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Question Number : 1 Question Id : 8797531207 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

For a Parallel R-L-C circuit the freqiiency terms are given by 1/LC and 1/2RC. The system is said to be over-damped
if

Options:

, % (LAWLC)>(1/2R®)

> % (LALC)=(1/2RC)

3 ¢ (INLC) < (1/2RC)

4 (1/7LC) is not equal to (1/2RC)

Question Number : 1 Question Id : 8797531207 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

UF AR R-L-C Tfde & e fhedr 2 1/7/LC 3R 1/2RC gamr 929
$r 7= T JUTST FF G5 HGT TFT FET AT 3R

Options:

; = (1/LC) > (1/2RC)




, & (1VLC) = (1/2RC)
. v (1VLC) < (1/2RC)
, % (1WLC) =g (1/2RC) % =&y & &

Question Number : 2 Question Id : 8797531208 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the CORRECT statement about energy storage in the inductor.

Options:
R
A finite amount of energy can be stored in an inductor if the voltage across the inductor is zero.

> % No energy will be stored in an inductor if the voltage across the inductor is zero.

5N

An infinite amount of energy can be stored in an inductor if the voltage across the inductor 1s zero.
E

An infinite amount of energy can be stored in an inductor if the voltage across the inductor 1s finite.
Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all candidates.

Question Number : 2 Question Id : 8797531208 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
W $3F H TART o § GFAUT g AN faFedt H F I HEr A

Options:
1.

SS9 H dAeea =T B W & 3§A _FAREA (finite) AN F AT Haafgd $T ST Hhr ¢
S SZacl H Jiec S 2 9 3TH FIS FAT HATed F&r ST 3T FhaTl

2%
$SFcT H dloce e B W & IHA 3+ (infinite) AT & FAT HAgd H A bl ¢
4 #
sEFeY H e AT (finite) @ WX o 38 3= (infinite) AT & =T Tafgd & o1 Toar 2

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 3 Question Id : 8797531209 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the CORRECT statement from the following.

Options:
1 % An electrical network and electrical circuit are same.

> % An electrical network has no relation to electrical circuit.

5 o AN electrical circuit should have at least one closed loop.

4, % Anelectrical circuit need not have any closed loop.



Question Number : 3 Question Id : 8797531209 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 4 Question Id : 8797531210 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In a sinusoidal steady state system, a circuit consisting of an independent voltage sotirce in series with an impedance
delivers maximum average power to the load impedance Z; when

Options:
1 # Z1= ZThevenin

> of Z1= Z*Thevenin
5 % Z is notrelated t0 Zhevenin

4 # None of the other options

Question Number : 4 Question Id : 8797531210 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

BITATIsT TE T JUTAT H, Ue Hieve fH0H 4@ F dee F1 F907 TG ¢ 98 Y F /Y 6N
HRYT Z| F v d3ftwaw dlgea =51 99 99 ar ¢ 59

Options:

;, % ZL= ZThevenin

> « ZL= Z*Thevenin

3 % £ T8 ZThevenin ¥ FFITOT FET

Question Number : 5 Question Id : 8797531211 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hybrid parameters express

Options:

, % Viand Vjinterms ofIj and I

- % Ijand I in terms of V) and V;

5 % 11 and Vo in terms of Vy and I



4 v ViandIyinterms of Iy and V.

Question Number : 5 Question Id : 8797531211 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ZISTeE ATHEE H HTocgeag ar &

Options:

Lx V1 HR Vo FHST A | 3R b
, w11 AT L & FE 7V 3RV
sk AT Vo FEET F VY IR
L v Vi HR L & Hes F 1y 3R Vo

Question Number : 6 Question Id : 8797531212 Question Type: MCQ Display Question Number-: Yes:Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The general theory of linear differential equations consists of the complementary function (CF) and the particular
solution (PS). The electrical circuit solutions in time domain are classified as natural response (NR) and forced response
(FR). They can be related as:

Options:
1 # CS=FR and PS=NR

> # CS #FR and PS=NR
z « CS=NR and PS=FR

4 % There is no relation between the four terms.

Question Number : 6 Question Id : 8797531212 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

mmuﬁw#m—qﬁ:@ﬁﬁr (C S-ﬁTﬁ'QTGrWTW(P)QHﬁH?I & AT
H Fihe HegaeH @& NR quﬂ-\é—s’ﬁ-‘r@m (FR) % aiy Eﬁﬂﬁm
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Options:

. % CS=FR 3k PS=NR

. = CS #FR 3k PS=NR

- v CS=NR 3k PS= FR

4 ® TR HAAT H FIS o wEE 7@ 2

Question Number : 7 Question Id : 8797531213 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a R-L-C circuit mois the resonant frequency, w4 is the natural resonant frequency and o the neper frequency. The neper
frequency for parallel and series circuits are given by

Options:
. » @=1/2RL and & = R/2LC respectively.



g S LC/2R and e = 2L/RC respectively.

gy B 1/2RL and & = L/RC respectively.

g 1/2RC and @ = R/2L respectively,

Question Number : 7 Question Id : 8797531213 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
R-L-Cﬁﬁmﬁﬁmmﬁ,mdﬁmmmaﬁaﬁﬂmﬁﬁ
g TAAR 3R gEeres affet F B AW et S & 5 2

Options:

, « @ =1/2RL3AR @ = R/2LC AT
, » @=LC/2RAR a = 2L/RC FA:
- » @=1/2RL3Ra = L/RC Fa
4 ¥ o =1/2RC 3T o = R/2L FA:

Question Number : 8 Question Id : 8797531214 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The average power delivered to any network composed of ideal inductors and capacitors is

Options:

1 & Zero
> # Finite
= % Infinite

4 % None of the other options

Question Number : 8 Question Id 8797531214 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 9 Question Id : 8797531215 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The coefficient of mutual inductance M between two inductive coils L and L» is given by

Options:



| % M=L;jL,

5> % M<LLp

5 » M=ylal

Question Number : 9 Question Id : 8797531215 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g W& Fad Ly 3R Ly & & st sfisema Mo wlaw qunes gan fear S g2

Options:

; » M= L1 Lo
> % M<Lilo
3 ® M= qf'L1L2

v ME:M,I'L-]LE

4

Question Number : 10 Question Id : 8797531216 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Maximum power transfer theorem states an independent voltage source in series with an impedance Zy, delivers a
maximum average power to the load impedance Zy 2 whertein

Options:

1 % Zh=2L

o B I+l

b
= L =21

4 % Z;m=27p

Question Number : 10 Question Id: 8797531216 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HIFaH FAT gEATAI0T THT FATT g T YT Zy, & WY YT F TEAT dlecs TG ST YT Z)
T SFar Agaa FA1 Ja1T = &, Tws &

Options:

; ® Zth = 2L
> % Zth* 4L

o AN 2l

s 2 Zh=24

Question Number : 11 Question Id : 8797531217 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



When a sinusoidal time varying source is connected to an R-L network the response will be
Options:

, = Natural response

. w Forced response

5 o Natural and forced response

4 » None of the other options

Question Number : 11 Question Id : 8797531217 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST UF Heaase a5H 3fSeT THT (sinusoidal time varying source) R-L #dd% W S=aT & OF HiTdr
fafaar grar ¥ °

Options:

, x FATHAITEE iafehar
o B o™
. o TEIEE TF qEEd Aidthar

Question Number : 12 Question Id : 8797531218 Question Type : MCQ. Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Laplace’s transform of f{t)=tu(t) is given by
Options:

1 ® l/s

5 v ]_."151

3 ® S

4 % ¢

Question Number : 12 Question Id : 8797531218 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

f(t)=tu(t) FT FTIT FIAIOT SHS SIRT AT ST F
Options:

1 1/s

5 o 1/s2

o ® S

4 % s°

Question Number : 13 Question Id : 8797531219 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Quality factor is defined as

Options:
Maximum energy stored

Total energy lost per period.
e

Maximum energy stored

2

7

> " = Total energy lost per period.

Maximum energy stored

= #  Total energy lost per period.

4 % None of the other options

Question Number : 13 Question Id : 8797531219 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IOl FReF N OH IR fSar Jrar g

Options:

Maximum energy stored

-
1 ® " Total ener gy lost per period.

Maximum energy stored

br

> of Total energy lost per period.

Maximum energy stored

3 ® Total energy lost per period.
4 % s T @ 3 AL

Question Number : 14 Question Id : 8797531220 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If an uncharged capacitor is connectad to an energy source then

Options:

, w The capacitor acts as an@pen circuit.

- » Current will start flowing in the capacitor in due course of time.

-  Current will flow instantaneously.

4 % None of the other options

Question Number : 14 Question Id : 8797531220 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 15 Question Id : 8797531221 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

For large networks generally
Options:

. + Thenode analysis is preferred.

> % Themesh analysis is preferred.

5 » Bothnode analysis and mesh analysis can be equally preferred.

, # Neither node analysis nor mesh analysis can be preferred.

Question Number : 15 Question Id : 8797531221 Question Type: MCQ Display Question Number @ Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 16 Question Id : 8797531222 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The electric field intensity due to an infinite plane sheet of charge is:

Options:
, w Inversely proportional to the perpendicular distance of the field point P from the plane sheet.

- % Directly proportional to the perpendicular distance of the field point P from the plane sheet.
5  Independent of the location of the field point P.

4 # None of the other options

Question Number : 16 Question Id : 8797531222 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T F ATATTTT T ofiT & FROT Tk & Fr figar Far g 22

Options:
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Question Number : 17 Question Id : 8797531223 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A closed surface encloses the point charge Q and has a medium with permittivity of free space ..

Then the Gauss’s law should not be represented by

Options:
1.9 v:{ E = Qr'IEu

f Eds = E
> R &0
] ® v E = Q."I.Eg

4 » None of the other options

Question Number : 17 Question Id : 8797531223 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U% §g TeHET # fig 9= Q WEATE 7 AR JF 89 og T TRETAT % WY O AveaA gl O e
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Options:

1 ¥ Nx E = Q."rfﬂ

fE.n ds=E
> ® €0

2 ® H.E=foﬂ

. % 39 U g o gl

Question Number : 18 Question Id : 8797531224 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The electric field intensity inside a charged spherical conductor is

Options:
1 & Zero

- % constant
= % infinite

4 % None of the other options

Question Number : 18 Question Id : 8797531224 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 19 Question Id : 8797531225 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The potential of a point charge at a distance r is given by

Options:

Q1

2
. » degr

@0,

w dmgr?

Qs

5 o A7ET

2

4 » None of the other options

Question Number : 19 Question Id : 8797531225 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
gl r W = T o g @ aHer e ganr femmdr S 27
Options:

Q4

| w dmegr?

Q1Q-

, w 4mgr?
@

5 o 47E,T

, » T8 W Fg & 7

Question Number : 20 Question Id : 8797531226 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The divergence theorem relates:

Options:

, % The line integral to the surface integral



o  The surface integral to the volume integral

- % [Ihe line integral to a volume integral

4 % None of the other options

Question Number : 20 Question Id : 8797531226 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 21 Question Id : 8797531227 Question Type: MCQ Display Question.Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For homogeneous isotropic material the polarization vector P is

Options:
1 Directly proportional to the electric fielddntensity E

> w Inversely proportional to the electric field intensity E

= % Isnotrelated to E

4 # None of the other options

Question Number : 21 Question Id : 8797531227 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TS MSHENS A & e ST 39T P §
Options:

|, TR & F A E & @ st
|, o 8 1 dwer E & Rde weege
. » E & geafaq =&t

. % 0 ¥ g o

Question Number : 22 Question Id : 8797531228 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The electric displacement D is in the direction of electric field intensity E if the medium is

Options:



|  Homogeneous and isotropic

-~ % Nonhomogeneous and anisotropic

5 % Nonhomogeneous and isotropic

4 » Homogeneous and anisotropic

Question Number : 22 Question Id : 8797531228 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 23 Question Id : 8797531229 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

At a dielectric — dielectric boundary the pressure is

Options:

1, 9

In a direction to draw the dielectric of higher permittivity into the dielectric of lower permittivity.
i

In a direction to draw the dielectrictef lower permittivity into the dielectric of higher permittivity.

- % Thetwo dielectrics do not exert any pressure on each other.

4 # None of the other options

Question Number : 23 Question Id : 8797531229 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 24 Question Id : 8797531230 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An electric current can be classified as
Options:

1 % Conduction current

- % Displacement current

= # Convection current

4  Conduction. convection and displacement current

Question Number : 24 Question Id : 8797531230 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 25 Question Id : 8797531231 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Stokes theorem relates the
Options:

, w Surface integral to volume integral.

o « Surface integral with aline integral taken about the contour of a surface.

- % volume integral toine integral taken about the contour of a surface.

4 # None of the other options

Question Number : 25 Question Id : 8797531231 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 26 Question Id : 8797531232 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ferro magnetic substances are those which when placed in a magnetic field

Options:
, w are weakly magnetized in opposition to the applied field.

- % are weakly magnetized in the direction of the applied field.
- » are strongly magnetized in opposition to the applied field.

4 « arestrongly magnetized in the direction of the applied field.

Question Number : 26 Question Id : 8797531232 Question Type: MCQ Display Question Number.i»Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 27 Question Id : 8797531233 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
During the refraction of magnetie lines on the boundary between two magnetic material of permeability py and p» the
normal component of B

Options:
|« 1s the same on both sides of boundary

- % 1is different on both sides of boundary

- % 1is zero on both sides of boundary

4 # None of the other options

Question Number : 27 Question Id : 8797531233 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 28 Question Id : 8797531234 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Maxwell’s equations are written as given below. Select the erroneous (INCORRECT) equation.

Options:

% Vv.D=p

s B=1

o VEH =],
vxe = -2

4 % ad

Question Number : 28 Question Id : 8797531234 Question Type: MCQ Display . Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fegad & FAE @ e B w2 g1 aed §Eeor @ 9T w4

Options:
. x VXH=],
dbB
VXE = ——
4 ® dt

Question Number : 29 Question ld : 8797531235 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An eddy current is a current
Options:
. « Presentin a metal which is in a changing magnetic field.

- % Presentin a metal which is in a time varying electric field.
- » Presentin a metal which is in a constant magnetic field.

4 # None of the other options

Question Number : 29 Question Id : 8797531235 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 30 Question Id : 8797531236 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In Lenz’s law the induced emf ‘e’ opposes the

Options:
1 # Flux

-  Change in flux
5 % Both the flux and change in flux

4 » None of the other options

Question Number : 30 Question Id : 8797531236 Question Type: MCQ. Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 31 Question Id : 8797531237 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The exciting current in a single phase transformer consists of

Options:

, w» Fundamental component current
> # Odd harmonics

%z % Even harmonics

4 « Fundamental and odd harmonics.

Question Number : 31 Question Id : 8797531237 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 32 Question Id : 8797531238 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Parallel operation of two transformers with which of the following vector groups is possible?

Options:
1 « Ydll and Yd1

> % Ydll and Yd6
z % Ddl and Yd1
4 % Dyland Yyl

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awar ded to all candidates.

Question Number : 32 Question Id : 8797531238 Question Type : MCQ. Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
o 39ex 79 & A1y g7 TEHHY FH FTACA FY THT g

Options:

. v Yd11 3T Yd1
- = Yd11 3T Ydé
- » Dd1 3R Yd1

, = Dyl 3T Yy

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 33 Question Id : 8797531239 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
For transformer short circuit test, the 1s generally chosen as primary side.

Options:
, % Either high or low voltage side

- % Low voltage side
- « highvoltage side

4 w None of the other options



Question Number : 33 Question Id : 8797531239 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TG o Wike ¥ & o F HFAAR T TAFF a5 F AR W T 1T 8
Options:
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Question Number : 34 Question Id : 8797531240 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The balanced Delta connected circuit of Za ohms per phase is equivalent to,a balanced star connected

circuit of Z star ohms per phase if

Options:
1 o Zy=(1/3) Za

> R La=ZLy
2 % Zy=(1"3) Za

4 R Z’f =3 Za

Question Number : 34 Question Id : 8797531240 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Sedeh el & Z, ohms FT HJfoid. SecT &ades Alhe Tg Ieds % & Z FeN ohms &F HJfod TR
FAFE Gihe F TET & 3R

Options:

v Zy =(113) Z,

> # Zi-.= ZY
. % Zy =(1H3) Z,
4% Ly T3 24,

Question Number : 35 Question Id : 8797531241 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The armature windings in a dc motor are placed on

Options:
, = Stator only

-  Rotor only

= % Either stator or rotor



4 » None of the other options

Question Number : 35 Question Id : 8797531241 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

S AT H IR ST S T W @ T §

Options:
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, « 38 T @S 8 7

Question Number : 36 Question Id : 8797531242 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The mmf wave of a dc machine armature approximates more nearlyto a

Options:
1 % Sinusoidal wave
5 % Square wave

5  lriangular wave

4 % None of the other options

Question Number : 36 Question Id : 8797531242 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

& ol 3 Y mmf G T Fad e B i

Options:

Question Number : 37 Question Id : 8797531243 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
During starting of induction motor at the terminals of the machine

Options:
1 % There is a current inrush

- % [Thereisadip in voltage

5 o There is combination of both mrush of current and voltage dip



4 » None of the other options

Question Number : 37 Question Id : 8797531243 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
7 & =fAaer W s39a AT IF @A & ek
Options:

|« T8 REA T F ZET I B &
, « drees FRar &

3 ¥

TaT Taq;l_j_rt qd1g Rl Sad g0 HRX areesT # 1 Frar (inrush of current and voltage dip) T & g %’

, % FH @ FIg o A

Question Number : 38 Question Id : 8797531244 Question Type: MCQ Display Question‘Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In induction motor the torque

Options:
, w Does not depend on slip and rotor resistance.

- % Depends on slip but not on rotor resistance.
-  Depends on slip and rotor resistance but net on rotor reactance.

4, % Depends on slip and rotor impedance.

Question Number : 38 Question Id : 8797531244 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SS9 AT H TF
Options:

| T 3 Aex iRy o fE @
.« TNT W BT @ & af Qex gy W A

=i

ToiT AR e ey T @9 #ar & aifeha Tex 9fafdam (rotor reactance) 9T &N

Question Number : 39 Question Id : 8797531245 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A three phase synchronous generator is connected to an infinite bus. If the excitation of the generator fails then it acts as a
Options:

, % Synchronous motor



> % Induction motor

-  Induction generator

4 » None of the other options

Question Number : 39 Question Id : 8797531245 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T off B AFTH T TF STABEASE T6 § J3T 21 IR FeNeT F S0 FAFe 2l & af 58
g a8 FH F TFaT &
Options:
e A
| # THehITH A

, x SIFUS A
. » TIFAT FHH
, « T8 T @ 8

Question Number : 40 Question Id : 8797531246 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a 3- phase induction motor. a deep bar rotor is used for obtaining
Options:

|« More starting torque

> % Reduced rotor loss

- » More pull out torque

4 % More starting torque

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 40 Questiondd: 8797531246 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
3-%hsT SEF AT H A9 §17 WeT FT I & v saA7 gar g

Options:

MF FIA I 3F 71y

1.9 3

5 % chd <ICx ﬂ-':lfh{-[lri

e 3 I 33T AT
UE A P 3AMUF A

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

.

Question Number : 41 Question Id : 8797531247 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



A 3 phase induction motor is running on a constant load. If the fuse in one phase blows off then the.
Options:
; % Motor will stop.

> % Motor will run with reduced current
= « Motor will run with increased current.

4 % None of the other options

Question Number : 41 Question Id : 8797531247 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T 3 B HT FSH Ay B HR T TOET §1 R TH B H FIS 3547 g ar

Options:

| % HART TR AU
s AT A fegd vaE ¥ =
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Question Number : 42 Question Id : 8797531248 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An alternator is connected to an infinite bus. If ifs field current is decreased then its armature current will be
Options:

, w Increases with zero pflagging

> % Decreases with zero pf leading.

5  ncreases with zero pf leading
4 # None of the other gptions

Question Number : 42 Question Id : 8797531248 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U HeeldAel U SAFSARE I8 & 37 &1 3PN 3F &7 & f9ggd Ta1g FH 2ar ¢ al 3HH HHN
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Options:
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Question Number : 43 Question Id : 8797531249 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In an induction motor the slip power recovery schemes can be used
Options:

, w Inconstant power drive only

- % In constant torque drive only

5 11 both constant power and constant torque drives

4 % None of the other options

Question Number : 43 Question Id : 8797531249 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T SZA AT A ToT Ay NeFall Tt gl SEIATST & = Jehal ¢

Options:

| aer TR 9EY 3ET A

, « A (B 20F 3BT A
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, « 38 T FS 8 a4

Question Number : 44 Question Id : 8797531250 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In electrical braking of three phase induction motor for the condition when the motor speed is greater than its
synchronous speed the breaking technique may be used.

Options:
1. regenerative

> % dynamic
5 x plugging

4 % None of the other options

Question Number : 44 Question Id : 8797531250 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frFT ST AT A SR FT T F IT A A 3ohr Bemg ae e 3ls g ¢ o=
afeFeT Tordter SEIATS T ST FEAr B

Options:
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Question Number : 45 Question Id : 8797531251 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

When single phasing occurs in a three phase induction motor carrying K times rated load the motor may operate
satisfactorily.

Options:

1 & K=1
> o K=0.5
=z B K=2

4 # None of the other options

Question Number : 45 Question Id : 8797531251 Question Type: MCQ Display Question Number i»Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

K T e8 9R & 98 sotarel O $f S5 Aiex F F9 fQerel $eteT @il § d9 Ay g
AT+ 7 ¥ TH Far 2

Options:

1.%-3 K:'!

. » K=0.5

3_%’3 K=2

, x FH @ Fg o A4

Question Number : 46 Question Id : 8797531252 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The power transmitted in power systems may be described by using the equation where P is the power. E is the electric
field intensity. H is magnetic field mtensity.

Options:
, v P=EXH
- % P=EH

3 % P=EHcos @
4 % P=EHsind

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 46 Question Id : 8797531252 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

F=T JUATSAT H =TT FT T THERIOT FT SEIATS F{F J01d 0T ST TFhar ¢ SaT P F=1 8, E
sl a7 & dEa ¥ i H e AT & A ¥

Options:

\ v P=EXH

> % P=EH




2 # P=FEHcos €
4 ®# P=EHsin¢
Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 47 Question Id : 8797531253 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The reactive power may be described as

Options:
. w The average value of that power component resulting in zero average.
-~ % Thatvalue of power which has a finite value and strongly depends on power factor.

3 ¥
Peak value of that power component travelling back and forth on the transmission line resulting in zero average.

4 » None of the other options

Question Number : 47 Question Id : 8797531253 Question Type: MCQ Display Question Number': Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
(4 L
giafsareie FAT &1 =T ¥ 309 a7 51 g8

Options:

39 FaAl wEAlAE & AFad A H IRUTH T HHT H A g

1. %
o %
AT F I A HTH FEARE A @ g AR AFAGT & F FoAl FRF W oW g g

=

HEROT {@ R ARG T Fa Fell sauieae @ B dog & IR o H|a F 350 g

Question Number : 48 Question Id: 8797531254 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation: Vertical

Correct : 1 Wrong: 0.25

The inductive and capacitive loads
Options:
| « Absorb positive and negative reactive power respectively.

- % Dissipate positive and negative reactive power respectively.
- u does not absorb positive and does not dissipate negative reactive power respectively

4 % None of the other options

Question Number : 48 Question Id : 8797531254 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
==faeg v Fofafes ax

Options:



| v FHAY TERCHAF HR THReAF FafFareie = # =T w=ar
, « FHAA FERICHF AR FAFNeHF Fareaneiier I F1 75 F gl

e
FHT: TFNIcHSF Tateraniier FaT H HFNRT F87 Far AT AFNeAF Fatenanie FAT F1 a5 76T
Epil

, « 38 T @S 8 7

Question Number : 49 Question Id : 8797531255 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Electrical stiffness is defined as T = APy/A0. The power system is generally operated at

Options:

. % A8=90°

> ® Ad=0°

5 « AS=30"to 45°
4 u Ad=75°

Question Number : 49 Question Id : 8797531255 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
STFEIS FETS F ST oNE TS AT 7w & T = DPY/Dd| ST Jumer HHF AR W AR g=ies
e &

Options:
, % Dd = 900
> % Dd = oY
2 « Dd = 30Y to 450
4 % Dd = 750

Question Number : 50 Question Id : 8797531256 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In power systems shunt compensators are employed at load ends to

Options:
; = Control the load voltage

> % Reduce the reactive power loss in transmission

-  Control the node voltage and reduce the reactive power loss

4 % Augment stability of the system

Question Number : 50 Question Id : 8797531256 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

. % deeH F HRX F FEI0r =T F T

o » TEOT 7 giafeameier A1 &7 g6 &7 F & (o

. » A5 dteea # faFIer & 3R wfafearia 3T & g & 77
% gumelr Fr TERREr # Farv

Question Number : 51 Question Id : 8797531257 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The surge impedance of a 100km long transmission line is 100W. For a 50- km long transmission line the surge
impedance is

Options:
1 #® 25ohm
> % 50 ohm

=z % 75 ohm

4 « 100 ohm

Question Number : 51 Question Id : 8797531257 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
100km €T T=UT oS &1 30T Fiairer 100W &1 50-km 7= T=oT osa & o0 3o g &

Options:

i 25 3teH
. » 50 3EH
3 % ?EW
, v 100 3MEA

Question Number : 52 Question Id : 8797531258 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a load flow at a slack bus the
Options:

, » Pand Q values are specified

> » PandVvalues are specified

5 » Qand V values are specified

S V and & values are specified.

Question Number : 52 Question Id : 8797531258 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 53 Question Id : 8797531259 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The breakdown strength of SFg gas is

Options:
1 # 30KV/cm

# 60 KV/icm
« 90 KV/cm

4 % 120KV/cm

&
=

Question Number : 53 Question Id : 8797531259 Question Type: M CQ.Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SFe 39 & g FT &THaT §

Options:

1 # 30 KViem
> % 60 KV/iem
=z « 90 KV/em
4 % 120 KV/em

Question Number : 54 Question I'd: 8797531260 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
HRC fuse has rupturing capacity of capability in comparison with a circuit breaker

Options:

, % Equal

> % Greater than
= « Less than

4 % None of the other options

Question Number : 54 Question Id : 8797531260 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 55 Question Id : 8797531261 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A fault occurs in the R phase of a solidly grounded unloaded alternator. The fault current Ig; and neutral current Iy are
given by

Options:

1 ® Ipy =E./ z1t2Z>tzg and In=1a0
> % IR1=E4/ 2172 and IN=2 Ip0

2 v IR1=Ed/ z1+2+z9 and In=3 Ipo
4 B Ig; =E./ z;t2Z>+2Zg and In=0

Question Number : 55 Question Id : 8797531261 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT ¥ F T2 0 BN 6% F aveet F R G F UF AW 309 g3 § AW F e Iy R
FIgA T Iy 30 awg | @ mw g

Options:
. % Ir1 = Eof z1+2o+2p AR UE a0

> % IR1 = B3/ z1*2 T IN=2 a0
- v IR1 = Eal z1+zo02g AR =3 Iao

4 % IR1 = B3l z1+2o+2g 3T 1y=0

Question Number : 56 Question Id : 8797531262 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
During current chopping the current actually breaks

Options:
, % during the instant of natural current zero.

> « before the instant of natural current zero.
- % after the instant of natural current zero.

4, w lrespective of the instant of natural zero.



Question Number : 56 Question Id : 8797531262 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 57 Question Id : 8797531263 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The swing equation for stability of power system is represented by

Options:

d* &
& Mo =Rk

d?s
,M=—=P—P,
2w di?

d* &
& M —RE

4 w None of the other options

Question Number : 57 Question Id : 8797531263 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

F=T UTEr Fr Tar &80 B9 geieor F FFuy ot Jar 87

Options:

d%s

1_$3Mdt2=Ps+Pg
d°s

T
d2s

gu Mp—Lk

4 % 8 W 5 80 A

Question Number : 58 Question Id : 8797531264 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For equal area criterion when a disturbance occurs:
Options:

, « Ifthe speed of the rotor is at synchronous speed there is change in torque angle



- % [Iheangle increases if the speed is more than synchronous speed.

- % Ihemechanical output is less than electrical output.

4 % None of the other options

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 58 Question Id : 8797531264 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e 89 & AES & T J9 3909 39T BT &
Options:

| v IR T F i W aifa g ar 2 F FIT 7 agara gen
.« IR AT fHwed o1fa & 3o g & &ror s
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Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awar ded to all candidates.

Question Number : 59 Question Id : 8797531265 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The making current is

Options:

, = specified in terms of CB rated current yalue

2
The peak value of maximum current loop including dc component in any phase during the first cycle of current when
the CB is closed.

- % Depends upon the instanton.the current wave when the contacts begin to open

4 » None of the other optious

Question Number : 59 Question Id : 8797531265 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ATFIT T FT

Options:
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Question Number : 60 Question Id : 8797531266 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The breaking current of a circuit breaker is
Options:
, « Less than its making current

> % More than its making current

5 % Equal to its making current

4 % None of the other options

Question Number : 60 Question Id : 8797531266 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Tfthe F9 &1 JfReT e
Options:

o I AFT R T FAE
., » 3FF AfFT Fe & 3w §
o « 3U% HATRT FE F TR &
4 % $OH @ FIg o

Question Number : 61 Question Id : 8797531267 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In power system protection the timings are‘abbreviated as below.

Operating time of backup (OTB)

primary relay time (PRT)

selective interval time  (SIT)

Circuit breaker operating time (CBOT).

Select the correct inequality given below to prevent mal-operation of protection system.
Options:

, « OTB=(PRT+SIT): SIT=CBOT

5 ® OTB<(PRT-SIT): SIT=CBOT

= ® OTB<(PRT-+SIT); SIT<CBOT
4 % OTB=(PRT+SIT); SIT<CBOT

Question Number : 61 Question Id : 8797531267 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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HTIfEIT 22H 3% FH37 (OTB)

g e e d (PRT)

foeifdcT setaa o=/ (SIT)

Hiehe ST HTIIfEeT 2EH (CBOT)

TRETOT JUTEAT & e qianeret & qobar & AT f&=r & g8 v sroaerar =11

Options:

. » OTB>(PRT+SIT); SIT>CBOT
, » OTB<(PRT+SIT); SIT>CBOT
. « OTB<(PRT+SIT); SIT<CBOT
, » OTB>(PRT+SIT); SIT<CBOT

Question Number : 62 Question Id : 8797531268 Question Type: MCQ Display Question'Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An ideal rectifier should have

Options:

1,

Efficiency = 100%: Vac=0: Transformer Utilisation Factor=1 and Total harmonic distortion =0
.

Efficiency = 90%: Vac=0.1: Transformer Utilisation Factor =0.9 and Total harmonic distortion =0
3 %

Efficiency = 90%: Vac=0.1: Transformer Utilisation Factor =0.9 and Total harmonic distortion =5%
4 ®

Efficiency = 100%: Vac=0.2: Transformer Utilisation Factor =0.8 and Total harmonic distortion =5%

Question Number : 62 Questiondd.: 8797531268 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation.. Vertical

Correct : 1 Wrong: 0.25

TS HE IFeEEN F FAT g WRT

Options:

FIIETHAT = 100%; Vac=0; TEBHT I9AIEEr geh=1 3%
| v 2T gEfes BEree = 0

2%
FTITHAT = 90%; Vac=0.1; THEFAET ITMRAT ge=0.9 3T e A= B = 0
5"
FIIETHAT = 90%; Vac=0.1; TEFHET ITATr aeh=0.9 3R e gHffas Brerea = 5%
4 %

FIISTHAT = 100%:; Vac=0.2; TTEBHET 39AEar ge6=0.8 3 aea gAlfas frds = 5%



Question Number : 63 Question Id : 8797531269 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Transformer utilization factor of TUF=K signifies

Options:

, + that transformer for rectifier should be 1/K times larger than that for ac source

- % that transformer for rectifier should be K-1 times larger than that for ac source
- » that transformer for rectifier should be 1-K times larger than that for ac source

4, » that transformer for rectifier should be K times larger than that for ac source

Question Number : 63 Question Id : 8797531269 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TUF=K T ITERAT 393 gea FI7 far 272

Options:
lww%mmﬁwﬁmtﬁwmﬁﬁerﬂmﬁmaﬁv
2 %

7z & vl w=a & g & Weew F O gwwiAT K-1 # I3 997 gl =fee
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Question Number : 64 Question Id : 8797531270 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Class B comuutation technique SCR 1is:
Options:
, % Self-commutated by aresonating load

- u CorL-C switched by another load carrying SCR
5 o Self-commutated by an L-C circuit

4 % An AC line commutation

Question Number : 64 Question Id : 8797531270 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SCR & FI1H B FFg2e Jhaeh gl

Options:

i IS AT H HeH-Fgecs (Self-commutated by a resonating load)

=z ®

| il e ?‘1‘ S BT FI ITer SCR & 5= & a7 & (C or L-C switched by another load
carrying SCR)




g R Tféhe & 75 A5 ¥ Aow-a+dees (Self-commutated by an L-C circuit)

T AC &8 F#gee (An AC line commutation)

4 %

Question Number : 65 Question Id : 8797531271 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a rectifier. commutation of diodes refers to transferring energy from

Options:
1 % Rectifier diode to load

- » Freewheeling diode to load
- » Freewheeling diode to rectifier diode

4 « Rectifier diode to freewheeling diode

Question Number : 65 Question Id : 8797531271 Question Type: MCQ Display Question'Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T IFewaT A, SIS & F9al0T FAT & Fal § FEAEI0T & g2ATar &
Options:
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Question Number : 66 Question Id : 8797531272 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A Centre tapped full wave reetifier output contains only

Options:
1 « Even harmonics

> % Odd harmonics
= # Even and odd harmonics
4 % No Harmonics

Question Number : 66 Question Id : 8797531272 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ueh HeT 58 Tl a9 FCHRT HIFEIE H Fhael FaT AMAST grar g2

Options:
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Question Number : 67 Question Id : 8797531273 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A comparison of performance of single phase and three phase rectifiers indicates

Options:
, w Single phase rectifiers are better than three phase rectifiers

o  Three phase rectifiers are better than single phase rectifiers

- % The performance is equivalent

4 » None of the other options

Question Number : 67 Question Id : 8797531273 Question Type: MCQ Display Question‘Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e % 3 off B Wrewad & FEYeRT S Joan Fa g 82

Options:
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Question Number : 68 Question Id : 8797531274 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The best type of filter for a diode rectifier consists of
Options:
, w Alarge inductor at the input end

> % A large capacitor at the output end

5 » A small inductor at the input end

4 A small inductor at the input and a large capacitor at the output

Question Number : 68 Question Id : 8797531274 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IS IFewT & T g9 sgat e & ey & Far anfde @ar 22

Options:

e gaqe fBY 9 Uw F37 $5HT
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Question Number : 69 Question Id : 8797531275 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Reverse recovery time of a diode should be considered for

Options:
, = Low frequency circuit
-  High frequency circuit

- » Both low and high frequency circuit

4 » None of the other options

Question Number : 69 Question Id : 8797531275 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T =TT F NEd Nl asa & el Ew e e
Options:
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, % 58 @ FI5 o

Question Number : 70 Question Id: 8797531276 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation: Vertical

Correct : 1 Wrong: 0.25

A Bipolar Junction Transistor saturation point may be defined as
Options:

, w The point where the collector current exceeds maximum value.

-~ » Large base current is present

3¢

Point above which the increase in base current does not increase the collector current significantly

, % None of the other options

Question Number : 70 Question Id : 8797531276 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ush FAAIOR A SISEET Hlod (9o @l $H a<g TReAd ohar Sar &
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Question Number : 71 Question Id : 8797531277 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Select the CORRECT statement from given answer choices.

Options:

. » Apower MOSFET is a current controlled device and BIT is a Voltage controlled device.

o A power MOSFET is a Voltage controlled device and BJT is a Cusrent controlled device.

- » Both power MOSFET & BJT are Current controlled devices,

4 » Both power MOSFET & BIT are Voltage controlled devices.

Question Number : 71 Question Id : 8797531277 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
I FFedr # ¥ WE U T+

Options:
1 ®

T FAT MOSFET I8 Us #ie § f@afa gfamer 3920 § 3T BJT 78 U& dees © ol g
3TRIOT &
o o

T FAT MOSFET I8 U= aeed ¥ Fafya g=amar 39930r § 3T BJT 38 v%F e ¥ f=ufy g=aer
IIHIOT &

. « &= T MOSFET 3R BJT o ae ¥ f@afa geamer 39e=or &
, = @ F=r MOSFET 3R BJT 7g Jeee ¥ g gaam 39 2l

Question Number : 72 Question Id : 8797531278 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Select the CORRECT statement from given answer choices.
Options:
, w A buck regulator has low input voltage and high output voltage.

> % A boost regulator has high input voltage and low output voltage.

- A buck regulator has high input voltage and low output voltage.

4 % Buck and boost have no relation to input and output voltage.



Question Number : 72 Question Id : 8797531278 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Options:
U o F[oed H ol $AYC decsl AR g H13eqe Aee gl

1
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Question Number : 73 Question Id : 8797531279 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In power electronics

Options:
1 # DC to AC conversion circuits are called converters andtAC to DC are called inverters.

> % DC to DC conversion circuits are called converters and AC to DC are called inverters.
z « DC to DC conversion circuits are called converters and DC to AC are called inverters.

4 % AC to DC conversion circuits are called«€onwverters and DC to AC are called inverters.

Question Number : 73 Question Id : 8797531279 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IR el A

Options:

. » DC ¥ AC FI=awUT Hi®el # FeacHd Fed 8 A AC & DC & =3¢y Fad ¢
, « DC & DC ®uleeruT #fehel & Feacl Fgd 8 3N AC & DC 1 geacd Fgd 2
. » DC & DC Fl=aior Afdhel # Feacd Fad ¢ 3 DC & AC & Seacy Fed ol
, » AC ® DC FU=eiuT Hishel &I &Fraed Fad ¢ A DC & AC F 37acH Fad 2l

Question Number : 74 Question Id : 8797531280 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Low order harmonic (LOH) one of the performance parameter of single phase half bridge inverter

Options:
, % 1s the smallest of all harmonic components

- % 1is that harmonic component whose frequency is closest to the fundamental

- % hasan amplitude greater than or equal to 3% of the fundamental component



4 &

is that harmonic component whose frequency is closest to the fundamental has an amplitude greater than or equal to 3%
of the fundamental component

Question Number : 74 Question Id : 8797531280 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 75 Question Id : 8797531281 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In sinusoidal pulse width modulation
Options:

, w Thewidth of each pulse is different

> % Thewidth of all pulses is same.

i
The width of each pulse is varied in proportioft tothe amplitude of sine wave evaluated at the center of the same pulse.

4 ®

Tha miridth Af ansh marloa 40 rramiad an Aeannstiinn a0 tha amanliboda AfF cdna srratra arraliatad at tHha otart AF tha saloa

Question Number : 75 Question Id : 8797531281 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HFATsS F9 H Alsts Agoue
Options:
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, « Tl FuAT Fr Az v & Er 7

3 ¢
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4 ®

g@mﬁﬁﬁg@waﬁ#m#mﬁmmﬁ%ﬁmmm#mﬁmm

Question Number : 76 Question Id : 8797531282 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The low order harmonic can be effectively reduced by



Options:

1 % Buck inverter

-~ % DBoost Inverter

- % Buck Boost inverter
4 « SPWM

Question Number : 76 Question Id : 8797531282 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
&7 a &7 & FHEAF F FTE T F FOF @R F7 FAr I FFar 87
Options:
| w TF Feacy
JEC HaAdel

it

T JEC Tedcd

THASEIUA (SPWM)

3 ®
4. o

Question Number : 77 Question Id : 8797531283 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Di/dt and dv/dt protections to thyristor are implemented using

Options:
|+ Aninductor in series with input and a capacitor in series with the switch.

> % Aninductor in parallel with the input and a capacitor in series with the load.

5 % Aninductor in parallel with the input and a capacitor in parallel with the load.

4 w Aninductor in series with the input and a capacitor in parallel with the load.

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 77 Question Id: 8797531283 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Difdt 2T dv/dt HI&T &I AZREFCT A FFHT ITAET HFleh AT AT £7
Options:

| OMRA A FIIC & AT UH RE JAT AviEA A v FaT & Ay §aiA)
AT H AYC & HIU Udh Y dAT AvishA H U AR & F1 HUiA|

2.9
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4 ®

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 78 Question Id : 8797531284 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
During turn off of a switch

Options:
, + The forward of the switch current rises before the forward voltage falls.

- % The forward current of the switch falls and then forward voltage rises.
5 » [Ihe forward voltage rises before the current falls.

4 w The forward voltage falls then current rises.

Question Number : 78 Question Id : 8797531284 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U Tg9 F1 9€ F & SN

Options:
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4 %

Question Number : 79 Question Id : 8797531285 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If a voltage changes instantly the current through a resistor connected across it

Options:
, w Does not change

- % Changes after some time
-  Changes instantly

4 % None of the other options

Question Number : 79 Question Id : 8797531285 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
I1¢ TF dlecs H caRd IRAde gidr ¢, df 388 53 Uy # garfed &m -

Options:

| % o6l dgerdl
. % FT AT & IR deoldl o
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Question Number : 80 Question Id : 8797531286 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A voltage source (V) is connected across an inductor (L) through a switch to form a circuit. At the instant the
switch is closed

Options:
| % The current-i, in the circuit is constant& di/dt = zero.

5 % The current-i. in the circuit is zero & di/dt = zero.
-  The current-i, in the circuit is zero & di/dt = V/L.

4 % The current-i, in the circuit is constant & di/dt = V/L.

Question Number : 80 Question Id : 8797531286 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 81 Question Id : 8797531287 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A voltage source (V) is connected across.a eapacitor (C) through a switch to form a circuit. At the instant the switch is
closed

Options:
, = Aninfinite current flows through the capacitor C after some time.

-  Aninfinite currentdflows through the capacitor C instantaneously.
- % No current will flow through the capacitor but a voltage V will appear across the capacitor

4 » None of the other options

Question Number : 81 Question Id : 8797531287 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 82 Question Id : 8797531288 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
For a second order system if the nature of roots are negative real and unequal then the system is

Options:
, % Critically damped

- % Under damped
-  Over damped

4 % Oscillatory

Question Number : 82 Question Id : 8797531288 Question Type: MCQ Display Question‘/Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Uk iddid A YUell H, AlG Hel/Fe &1 Thid AFRIcHS argaids 31X IFATT § a a8 JUmell o-

Options:
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Question Number : 83 Question Id : 8797531289 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If a second order system i8 oscillatory then its roots will be
Options:
, % Negative real and unequal

» » Negative real and equal
- u Conjugate complex

4  Conjugate imaginary

Question Number : 83 Question Id : 8797531289 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 84 Question Id : 8797531290 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Laplace’s transform of function f{(t)= u(t) is

Options:
% 5

> o 1/
T W 1
4 % 1-8

Question Number : 84 Question Id : 8797531290 Question Type: MCQ Display Question Number :Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ATCATT T CIAWIH IR Heer f(t)= u(t) &
Options:

1. % 5

> o 1ls

z % 1

4 % 1-s

Question Number : 85 Question Id : 8797531291 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Ohm'’s law is written in elecfro-magnetics as

Options:

; % V=IR

> o J=OE
aD
 J=cE+—

o ® dt

4 » None of the other options

Question Number : 85 Question Id : 8797531291 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 86 Question Id : 8797531292 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The equivalent circuit of a bipolar junction transistor contains
Options:
, w Independent sources

> % Dependent sources

3 of Dependent sources and resistances

4 % None of the other options

Question Number : 86 Question Id : 8797531292 Question Type: MCQ Display Question Number.i»Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 87 Question Id : 8797531293 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The laws used in cutsets and tiesets of a network are
Options:

1 #% Ohms law

> o Kirchoff’s laws
= % DBiot Savart’s law

4 % Lorentz law

Question Number : 87 Question Id : 8797531293 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 88 Question Id : 8797531294 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A radial power system is represented by
Options:

, w» Closed paths

> % Closed and open paths

-  Only open paths

4 # None of the other options

Question Number : 88 Question Id : 8797531294 Question Type: MCQ Display Question Number. : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 89 Question Id : 8797531295 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The resistance/conductance of @ material i1s a function of
Options:

, ® Temperature

5 % Frequency
5  Both temperature and frequency

4 # None of the other options

Question Number : 89 Question Id : 8797531295 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 90 Question Id : 8797531296 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The attenuation and propagation constants are applicable to
Options:
. « Bothunderground cables and transmission lines

> % Only transmission lines
5 % Onlyunderground cables

, % Neither transmission lines not underground cables

Question Number : 90 Question Id : 8797531296 Question Type: MCQ Display Question Number.i»Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
o 3R 99R f&2RTs (attenuation and propagation constants) Fr RICINC T ® g

Options:

| » SFF Fa (underground cables) HX IREUT &EA (transmission lines), aiAT

o % I 9REUT F3=T (Only transmission lines)
. w acl $fFS &ae (Only underground cables)

4 ®

ST @ & ${fFTT FIA (underground cables), FT & TREUT SR (transmission lines)

Question Number : 91 Question Id : 8797531297 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If x(n) = a™cos(wyn)u(@hthen its Z-transform X(2) is:

Options:
- 1-az"tcoswy .

4 X(E} T 1-2az™ cosag + atz~2’ lzl > lal
- 1-az™? cosw, .

o ® X(Z]' " 1-2azt coswgy+ a2z 2’ lzl < lal

X(z) = —L2E 2% 151 > |qf
® 1-2z"1 cosmg +z 2"

- 1—az"? cosag " -

4 ® X(E} "~ 1+ 2az7t coswg + a?z2’ lzl a lal

Question Number : 91 Question Id : 8797531297 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Afg x(n) = a"coslwgnlu(n) & ar FTH Z-F9R X2) &

Options:




1 - az"? cosw,

1.4 ¥la)= - 263" Ccaseng + a2 lz| > |al
> % xiak= 1—2:31:12;;;'1@;2-3: lz| < lal
3 ® Xa)= 1—12;2;::2-2? |z = |al

q ® X() = 1+ z:z:f:;::j.m:zz—g: lz| = |al

Question Number : 92 Question Id : 8797531298 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If /(n) is the impulse response of an anti-causal and unstable system, then its transfer function will be of the form:

Options:
A 2 s
1 ® H(Ej - (z—-3)*
e e 2
H (Z] = (z—2) le :}.5)
: =
o ® <
- Mz= 2P~ 05
T ® H(:Ej o (z —3)4
G 2
H(Z_) _ (z -2} ':El 40.5]
4 ( _Ej

Question Number : 92 Question Id : 8797531298 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

afe hln) TF TE-Fearer AR ATPR@OET T 3 gfdfRar §, df sHeT FEand S fRE T 7 g

Options:
{z—2)(z—05)°

L% A==
(z-2)(z-08)
HI:E] == 1na
> ® ( _E)
- {z—2)%z - 052
3 % B =
(z - 2)*(z-0.5)?
HI:E] == n
4, ( _E)

Question Number : 93 Question Id : 8797531299 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A4; ltl=1/2 : . :
If x(t) = { 0; el >1/2° then its Fourier transform 1is:

Options:



sin wFt
2 ALL)=dw

1. TFT

X(f] s A gin wFT

mFT

A mFT

1 s=in wFT
3 ® =

T sin wFtT
4 % A= 5

A nkt

Question Number : 93 Question Id : 8797531299 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

zrﬁ;x(c)=[‘* lll=7/2 o o e SR il T

0; |el =1/2

Options:
sin TFT
e X(f) = Ar. e
sin TFT

o R X(f) =k mET

1 sin mFT
o R XUP}_E wFT

T sin @FT
4 B X(f)—; wFT

Question Number : 94 Question Id : 8797531300 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A unit step digital sequence has Z-transforin X(z) = o its Fourier transform

Options:

| ® 15 X(E‘im) = ﬁ

L BX(e) =g
Y _ o

L BX(e) =T

4 + does not exist

Question Number : 94 Question Id : 8797531300 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Uk Seple o107 TEficel A & 2SIl X(z) = ~ ¥ TEET BN e # E

:
Options:
: 1
L Fotty
1 ® X(E )_1—9_["”
: 1
X(EEM) s

o R 1 — gl



iwy __
z # X(E )_l—s'i"“’

4  AlG T &

Question Number : 95 Question Id : 8797531301 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Consider a signal x(n)={-1,2.4,2, -1 3} what 15_[ X(w)dw?

Options:
1 ® 7

- % l4m
= o 8I
4 % 9

Question Number : 95 Question Id : 8797531301 Question Type: MCQ Display Question‘/Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
2 - i
gha *(m)=1{-1,2.4.2,-13} W TER A [ _X(w)do FEMFX
Options:
1 ® 7
o R 1dxn
o o 8n
4 % 9
Question Number : 96 Question Id : 8797531302 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The input to LTI system is x[n] =2 ¢os ( ) + 3sin (Eﬂ + ) .

1 | —
—co << < oo Find the output if unit sample response of the system is h[n] = 2 [M] n+l—oco<n<oo

Options:
y(n) = 4cos %—E)
y(n) = 4cos %—E) 651?1( e —E)

y(n) = 4cos[—— )+ 651n(i

4

ml:l

)

y(n) = 4cos m) + 6sin (Em)

&
Question Number : 96 Question Id : 8797531302 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25



LT| Somerr &I EEFE'I[H]—ZCGS( )+35m(—+ )%’

—o0 < N < oo aﬁmﬁmmqﬁmh[m_z[“ i 1}_ n#£l,—o<n<w ?‘, ar A{3ege
F'I'IFFEFQ' (n—1)m =
Options:

T

T
7 y(n) = 4 cos (T_Z

=

)
)+ s (22-)

T T
i y(n) = 4 cos R
nw s : ng T
" y(n) = 4 cos (T ;) +6sin (T = E)
nw inw
i y(n) = 4 cos T)—I—ﬁs: ( . )

Question Number : 97 Question Id : 8797531303 Question Type: MCQ Display Question Number...Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the ROC of the signal x(t) = 4e~*u(t) — e **u(t).
Options:

1% Re(s) = —4

o of R@LS) s |

2 ® RE{\S) £

4 ® RE{_S) R

Question Number : 97 Question Id : 8797531303 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

x(t) = 4e*u(t) — e **u(t) Hha FT ROC 7T FII
Options:
; » Re(s) > -4

5 of Re(s) = -1
5 » Re(s}) < -4

4 » Re(s) < -1

Question Number : 98 Question Id : 8797531304 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Spectrum of (1, 2, 3, 4, 5, —4, —3, —2) signal will be:
Options:

1 # Real and even

- % lmaginary and even

=z % Realandodd



4 « Imaginary and Odd

Question Number : 98 Question Id : 8797531304 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(1, 2, 3, 4, 5, -4, -3, -2) & THIcH Tehd gHET:
Options:

| ® aredidsh 3T drer
> % ledisler 3T drer
5 % dedigs AT Iear
4 v Fledisld 3T IeaT

Question Number : 99 Question Id : 8797531305 Question Type: MCQ Display Question Number.:.Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Laplace transform of x(7) is given as X(s) = 3s® + 25+ 1. this signal x(7) is subjeetedfo an unknown operation after

which Laplace transform becomes X; (s) = 65 + 2. the new version of Laplace inverse x;(7) is:

Options:

dx (&

dt
T ACE | x(t).dt
2 o X1 (t) = —tx(t)

4 % %4(0)=(1/0)x()

Question Number : 99 Question Id : 8797531305 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

x(f) FT AT FAAROT X(s) =352+ 2s+1 & T H GT M §, TG Thd x(1) TR AT OO § SIS
T e g, 5T g ooy F9eRT X (s) = 65 + 2 @ ST g, oeend Gidelld xy(f) T AT TERIOT &
Options:
om0 =58

o ® xl[t} = J-X{t).dt
x () = —tx(t)

4 % x1(8) = (=1/D)x(t)

w
%

Question Number : 100 Question Id ;: 8797531306 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which ones from the following systems is invertible. causal and stable?
Options:

542

Higj=—— —
() s°—25—-3



5—2

His)=—4/——
o % srtds 43

i’
Hiy= 5T
. W s*+45+3

5—2
B

H()=—

Question Number : 100 Question Id : 8797531306 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T s ¥ 7 31 338 (invertible), F0MT (causal) 3T TERT (stable) &7

Options:
2
Hs)=—"
1 ® gri—25—3
g,
H(s)=— "
> ® s +4s5+3
+2
H(s)=—
2 o sT+45+3
P |
H(s)= 52
4 R gri—dg—3

Question Number : 101 Question Id : 8797531307 Question Type #MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider a signal x(1). its autocorrelation is given as
e (T) = {2. 5. 10, 50, 10. 5, 2}, Find the#€nergy of x(t)?

Options:
1 ® 2758

> ® 394
3.+ 30
4 B 34

Question Number : 101 Question Id : 8797531307 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
UF Tohd XA W TR F, STH TaHgaFaee
re (1) = {2, 5, 10, 50, 10, 5, 2}& &7 & &A1 71T &, x(t) Fr For AT FHIiFT?

Options:
| ® 2758

> % 394

4 B 84



Question Number : 102 Question Id : 8797531308 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find initial and final value of h(r) if H(s) =

25+ 2.5

?
5+ 0.5

Options:
1« 15.0

2 % 1.5.. oD
5 # oo, 0

% o, 5

4,

Question Number : 102 Question Id : 8797531308 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Mo &1 3Rfaw 3R 5ifae A A +1 afg HG) =222

5+ 05

Options:
|15 0

233 -].5, oo
3 % % 0
4 % © O

Question Number : 103 Question Id : 8797531309 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What will be the order of the odd length even symmetric FIR impulse response if it is known that there is a zero at

z; = 0.5_jn/z and second zero at =1,
Options:
1 ® 5

2_-33?

S
W o

=
4

#

Question Number : 103 Question Id : 8797531309 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fauT oas F1 F7 7d HIeT ods 6T Tafdg teImssR Jaa wfarar a2 afic ag Ad & &
zy = 05,z T TECT YT AT 2z = 1 9T gAY AT ¢

Options:

1 ® D

> # 1

3¢ 6

4 % 3



Question Number : 104 Question Id : 8797531310 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A system is described by y¥(n) = 3x(n) + 4x(n — 1) — 2y(n— 1). its inverse system will be:
Options:

1
Ly =

3x(n)+4x(n—1)-2y(n—-1)

o % () = Bx(m]™ + [4x(n — DI - 2y(n— DI
5 3y(n)=x(n) +2x(n—1) —4y(n—1)
4 % y(m)=0.33x(n) + 0.25x(n — 1) + 0.5y(n — 1)

Question Number : 104 Question Id : 8797531310 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
y(n) =3x(n) + 4x(n— 1) —2y(n—1) & ZART TH JUEl F qoTd FRAT AT ¢, SHHT Tidard JomelT 47 &
Options:
1
Ixin)+4xin—11-2ym—1)

, % y(n) =
> % v(n) = [3x [n}]_l + [4x(n— 1}]—1 _ [2y(n— 1:}]_1
- v 3y =xm) +2x(n—1) —4y(n—-1)

Question Number : 105 Question Id : 8797531311 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

5+2

The closed loop transfer function is . What will be the open loop DC gain if unity feedback system is considered

5= +55+F

for closed loop system?

Options:

1. ¢

B | =1 BJJLR =] [ B2 E | B

Question Number : 105 Question Id : 8797531311 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
9% AT FAEEROT BT 5 2, AT SIS TAfear YU & AT o9 F v e fREr S € oar s

5245547

F[}Télflﬁ [SIE i1 DT L
Options:




| ea

1. v

=] | a2

B2 | un

Question Number : 106 Question Id : 8797531312 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The unit step response for an relaxed system is

c(t) =1—e™3%t = 0 : What will be its transfer function?

Options:
3

1 ® sis +3)

3
o (s+3)

1

o % slz +3)

1

g4 ® (s +3)

Question Number : 106 Question Id : 8797531312 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
v foferer yomelr & 0w s avor 9fafRar c(t) = 1 —e 7%t = 0 8 SHHT TAHGIOT Bod AT F

Options:
3
1 # s(s+3)

-
o o (3+3)

1
= # =(s+3)

1
4 ® (s+32)

Question Number : 107 Question Id ;: 8797531313 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A unity feedback has open loop transfer function;
G(S) i 10(5'4‘2](54‘3]
s(s +3.5)(s+2.5)
What will be the steady state error if it is excited with input x(f) = 15fu(f) unit ramp input?

Options:
1 o 2.1875



o B 0
=z B 4
4 % 102.8

Question Number : 107 Question Id ;: 8797531313 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
U GHES ITARRAT B AT O[T TR Bolel 6(s) = ——2 D ¥ oo Fufy 38 71d few afg a8

s(s +3.5)(s+2.5)
=A9C X(#) = 158 I 1T s9C F @ Sedfora g g

Options:

| & 2.1875

A 0
=z ® 4
L % 102.8

Question Number : 108 Question Id : 8797531314 Question Type: MCQ Display Question'Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
25
s(s+5)
What is peak and settling time if the system is transformed to elosed loop function with unity feedback?

Consider an open loop function G(s) =

Options:
3 i) :
1 « 0.726 sec, 1.6 sec

> % 0.5sec, 1.1 sec
z % 1.6 sec. 0.726 sec

4 % 0.8125 sec. 1.56 sec

Question Number : 108 Question Id : 8797531314 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

F I q B G() S W RER FY; AR O 59 SRR F AT A qF e A FeAaRa W
&I STdr g, df 3Taa#d 3R cHattyd @8y 47 g

Options:

1 « 0.726 sec, 1.6 sec

> = 0.0 sec, 1.1 sec
=z = 1.6 sec, 0.726 sec
4 » 0.8125, 1.56 sec

Question Number : 109 Question Id : 8797531315 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Torque angular velocity for spring(K) and inertia (J) is modeled as :

Options:



w Kij

i
Kj w(T)dr, jd“{ﬂ
1dm{1:]
o ® K IIU[ )d dr
jdmh f{f w(1)dr,
4 %

Question Number : 109 Question Id : 8797531315 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TEE1(K) d2r Sfedar (J) & T gerrgel Siofia 991 g Algd & §91 #7 8
Options:

. % Kjw

dm[ﬂ

o Kf wlt)dr, J

_J- m[’r}dr ldm{’ru

deiTh

g 7 Kf wl(T)dr,

Question Number : 110 Question Id : 8797531316 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
1

s(25%+35% 4252 435+42)

A unity feedback closed loop system has open'loop transfer function G(s) =

How many poles are on left hand side, right hand side and on jw J-axis?

Options:
L w520

, % 4,0,1
o8 2201

4% 2,3,0

Question Number : 110 Question Id : 8797531316 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Wé&"!‘émaﬁ?ﬁmﬁB%}TCIFTFLEHFEHHTHTUTWG[s)—s@sﬁs;sﬂﬁmﬁ aTT gTer T 3R, T
g1 T HIT AT jo J-3787 9T Fas @ 7

Options:

¢ 3.2.0

o & .07

o d 2.2

& 230



Question Number : 111 Question Id : 8797531317 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
K(s+3) .
5%+ 75341452 +(8 + K)st+ 3K

Consider a closed loop system with transfer function T(s) =

For which of the following cases the system will be stable?

Options:
, # 0SK<4.65

> % K>9.65
5 % —9.65 <K<9.65
4 @ 0<K<9.65

Question Number : 111 Question Id : 8797531317 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

UF ¢ T JUMCl TSI FATAicor Ferd T(s) = - ?Sgﬂf_f;;l TR g W AR f . Aet@aagsa g
ATHA & Woren fEax gref?

Options:

; & 0 K<465

> # K> 965

z % —9.65 < K< 9.65
4« 0 K< 8960

Question Number : 112 Question Id : 8797531318 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A unity feedback closed loop system has forward transfer function

KE(s*—4s+ 20} . QN
———— ; the breakaway poinfilies
s2+65+8 ”

Options:
1 % Between 2 and 4

>  Between —2 and —4
2 8 Leftof—2
4 % Right of —4

Question Number : 112 Question Id ;: 8797531318 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
wmﬁwm@mﬁm@wﬁm%mwmﬁq fEora 2

Options:

| % 2 U 4 % d="
3%‘2*@3'1}“—



4 % —4 & gt 3

Question Number : 113 Question Id : 8797531319 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A forward transfer function is G(s) = K(s + 3)/[s(s + 1)(s + 2)] : what are dc gain and corner frequencies in Bode
Analysis?

Options:

;o » K. 1,23

o8 TSRS
g 156 1,23
4 = 1.5K.1,05,1/3

Question Number : 113 Question 1d : 8797531319 Question Type: MCQ Display Question Number': Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

G(s) =K(s+3)/[s(s + 1)(s + 2)] TF HES TAIRIT Feld §; 912 @™ol H 34T @mer AW Fle Agicaan
T 87

Options:

; K 1,2, 3

. %15 1.2 3
- 15K 1,2 3

. % 15K 1,05, 1/3

Question Number : 114 Question Id : 8797531320 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
: . o . s o
What is the gain margin if (jo)H(Jw) = ?

(s +2)(s® + 25+ 2)

Options:
, % 10dB

> % 0.3dB
2 « 1045 dB
4 % 3.33dB

Question Number : 114 Question Id : 8797531320 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

. ; 6
aﬁ[jm}H[}m) 3 (s+2)(s°+25+2) %' Fﬁ H IR ?’r?
Options:
, % 10 dB
> % 0.3 dB

- v 10.45 dB



4 % 3.33 dB

Question Number : 115 Question Id : 8797531321 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

. . 5+ = . .
A system with transfer function F(s) = K.—= is used as Lag compensator to improve the steady error.
S+pe "

What conditions should be met to achieve this?
Options:
g ® zc = pc

o o Zc{:pc

=z ® Z. = P¢

4 pc:D

Question Number : 115 Question Id ;: 8797531321 Question Type: MCQ Display Question Number: Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T OTTCl fSTHe ATl Bole Fs) = K. 2= ¥, [EoR Afe &1 gurel .60 et dedadied & &9 8 g

5+ P

#T FACA 1 8 9o Fe & ow e IRFufaat #F 9w G e aige?
Options:
1 ® Z. = Pe

o o Zc = Pe

T B Z. = Pe

g pc:D

Question Number : 116 Question Id : 8797531322 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The forward path transfer function is G(s) = the lead compensator that would work with this G(s).

if it subjected to unity feedback closed loop system will be
Options:
8(s+ 2)
1. % (s+3)
8(s —2)
2 % (5+3)
8(s+2)
3% [-3)
(s —1)
4 ¥ (s+3)

Question Number : 116 Question Id : 8797531322 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

) S T
PRIS TA FEART Bl G(s) = 5

gars ufdferar g o gomel ¥ wafad 2

Options:

£, 30 G(s) & T HH FLa arell oiis dFda8cd F41 o, qiG I8



Bls+2)
1. % (s+3

B(s—2)
z ® (s+3)

Bls+2)
3 % (s-3
B(s-1)
4 % [(s+I

Question Number : 117 Question Id : 8797531323 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Consider following state space equations for an LTI system

~H % [0 = : i e s
X = [2 5];\: + l]u and ¥=[1 1]x. the system is:
Options:
1 % Controllable and observable
> % Controllable but not observable
= « Observable but not controllable
4 % Neither controllable nor observable

Question Number : 117 Question Id : 8797531323 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

w LTI qomelt & fore oA & o fearfy v ol | AR w0 x= [0 Qv+ Yu @wo ov=p 1]
X, 9UTeil ar &

Options:

, # EEOE SR e

o w TSIAUI cifehel sTacilshelasiel

- SAciReA Al f@I=0IT el
4w @ o Wi §eR A el

Question Number : 118 Question Id : 8797531324 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which of the following graphs can be used to analyze input VI characteristics of conunon base configuration of bipolar
transistor?

Options:

1 Vge vs Ig at constant Vg

5 R Veg vs Ig at constant Ic
= % Vg vs I at constant Ic

4 % VEgc vs Ip at constant Vg

Question Number : 118 Question Id : 8797531324 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

claedr ciioTee & HAT U 9w $1 saqe VI faivarsi #1 faeevor se & fov Heafciaa # @ sia
T 1G] FT 3949 Far 5 T 87

Options:

1 ¥ ﬁaﬁ \"';CEE EES VBE sfedTH IE

5 ® 208 lc W Vgg 9a1H g
2 ® ey |C qTVCE o [H IE

4 & T Vg W Vee 9609 g

Question Number : 119 Question Id : 8797531325 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Determine the ac dynamic resistance of diode if current varies from 2 to 17mA and voltage changes from 0.65 to
0.725V?
Options:
1 % 108

5 % 150

7. v 50

Question Number : 119 Question Id : 8797531325 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
7, faegd o 2 ¥ 17 mA Jgadr &dl ¢ gi@iecs 0.65 ¥ 0.725V # Jgd 1T § dr saE &1 odr afaehe
STCRIET &TAAT AT Hiford?

Options:

1 ® 10 0
o R 150
3. ¢ 20

4 B 000

Question Number : 120 Question Id : 8797531326 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

For centre tapped full wave rectifier with C filter. the maximum voltage that would appear across the diode if mput
voltage is 5V will be

Options:
| % 12V
> % 5V
= o 1414V
4 ® 2.5V

Question Number : 120 Question Id : 8797531326 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

C Theect & @1 AT F 9 a0 g qo7 ater fesewill & fov sAfsda diees, afg saqe diecst 5V df s/ils
H 3cdee FI &, gt

Options:

1 & 12V

> #% oV

2 o 14.14V
4 ® 2.5V

Question Number : 121 Question Id : 8797531327 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Collector to base bias configuration of common emitter transistor implicitly employs

Options:
, w Vvoltage series negative feedback.

- % current shunt negative feedback.

5 « Voltage shunt negative feedback.

4 % no feedback.

Question Number : 121 Question Id : 8797531327 Question Type: MCQ. Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT 3cdaish citaited o T Hiaad . aeag d gagdcar 8w Haifaa s &

Options:

 # dlecol AUl dHRICAS Ffafear
, % TACAd NI AT TAPRIcHE FhafHar

5 o Gloca T dAFRIcHS, Afafshar

Question Number : 122 Question Id : 8797531328 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

An amplifier has open loop gain of 50, input and output impedance of 1K< and 0.5K<2 respectively. A negative
feedback circuit with a factor of 0.8 is connected to the amplifier in current shunt configuration. The input and output
impedances with feedback are and respectively.

Options:
, % 41KQ, 20.5KQ

o w 24.39Q.12.19Q
5 » 41KQ.12.19Q
4 v 24.399.20.5KQ



Question Number : 122 Question Id : 8797531328 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ush UFTClThIAY & 319+ o[d o1l 50 &, saqe 3 373eqe /@ty A 1Ko d21 0.5KQ g1 f9edd anr e

faearg A vraeRE 8 0.8 & "o arel Ush ddRicAd iafeal 99 J1sT Sar 81 9iafear & @y saqe
3R IMFee Y A 3R §

Options:
. % 41Ka, 20.5Ka

> % 24390, 12.190
z % 41KQ, 12.190
4 v 24.390, 20.5Ka

Question Number : 123 Question Id : 8797531329 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The input voltages of an op-amp are v{=1005uV, v>=995uV. If CMRR=100dB. AdZAOZZXIDS. what will be differential
voltage. common voltage and common mode gain?

Options:
% 1PV, 1000pV, * 2
5 R 10pV, 100uV. £ 1

. % 10pV. 1000V, + 1

H

2

4 » 10§V, 1000V,

Question Number : 123 Question Id ;: 8797531329 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Th op-amp %I FFIC dreeat vq=1005uV, v,=995uV &1 IG CMRR=100dB, A4=A,=2x10° &, df 3d®c®
dlccd, OAT diccs 3T ATHRS AIS 187 F4T gHE?

Options:

. % 1uv, 10004V, %2

o % 10pV, 100pv, £ 1

- % 10pV, 1000pV, = 1

. 104V, 1000V, = 2

Question Number : 124 Question Id ;: 8797531330 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A depletion type MOSFET has Ipgs=10mA. V= —4. Vggg= 1'V. what will be Ipg?

Options:
1 % 10mA

> o 15.625mA
= % 5.625mA



Question Number : 124 Question Id : 8797531330 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
UF HI&TT YFR & MOSFET #  Ipgg=10mA, Vp= -4, Vgga= 1V &, Ipg FT g1M?

Options:

1 ® 10mA

5> o 10.620mA
3 #® 0.625mA
4 % 0

Question Number : 125 Question Id : 8797531331 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In R-2R ladder of DAC. if input is 0110 and V,.p= 16V. then output valtage is .

Options:
1 ® 8V

> % 4V
5 o 6V
4 % 10V

Question Number : 125 Question Id : 8797531331 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
DAC & R-2R &Y # , a1 saqe 0110402 Vier = 16V g, @l 3M3eYe diec gl

Options:
1 B 8V

o R 4V
3. ¢ 6V
4 ® 10V

Question Number : 126 Question Id : 8797531332 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Calculate the dc output voltage across 1K€ load for an RC filter (R = 12082, C = 10uF) with dc imitial voltage across
capacitor is 60V,

Options:
1 ® 60V

5 o 53.6V
3 % 14.14V
4 % 30V



Question Number : 126 Question Id : 8797531332 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
tF RC fheex (R = 1200, C = 10pF), Torasr @uia @ 9rfEes S/t diecs 60V §, & fov 1Ko @3 ¥ ST
313¢Ye dlecal &l AU HITAT

Options:

. % B0V
5 & 53.6V
2 % 14.14V
4 % 30V

Question Number : 127 Question Id : 8797531333 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In Schinitt trigger circuitry. Ry = 1KQ, Ry = 100€, V= 0. V; = 1V, sinusoid saturation voltage + 15V, then Vyr.
Vi are:

Options:

4 1.36V, —1.36V

o ® 9.09V.—9.00V
5w 14V,-14V
o ® 2.34V,-234V

Question Number : 127 Question Id : 8797531333 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e feem aftmer &, Ry = 1KO, Ry =100Q¢ Vier = 0, Vj = 1V, WIBGHETS Hgfed aieest + 15V g,
@ Vur, ViT &

Options:

1w 136V, -1.36 V

» % 9.09V, -9.09V
5 % 14V, —14V
L, % 2.34V, -2.34V

Question Number : 128 Question Id : 8797531334 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A first order Butterworth low-pass filter to give a high cut-off frequency of 1KHz with a capacitor of 0.01pF is
designed. If the desired frequency is changed to 1.5KHz, the new value of R would be

Options:
; ®% 15.91KQ

5 « 10.61KQ
3 % 9.TKQ
4 % 11.24K0Q



Question Number : 128 Question Id : 8797531334 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
agel H F U Jed@d al-Id fheed 0.01pF & vF @ifiia & @y 1KHz &7 vs 3Td & 3% 3afcad oo &
e aamr aar g1 3t aifaa sngfcd 9ga #X 1.5KHz &T &1 JrdT ¢, df R &1 aa1 Al 347 glen?

Options:
. % 15.91Kn

>« 10.61KQ
2 % 9.7K0
4 % 11.24Ka

Question Number : 129 Question Id : 8797531335 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The range of signed decimal numbers that can be represented by 5 bits 1's complement number is :

Options:
1 ® —31to3l

> o —1510 15
= % 0631063
4 % —Jto7

Question Number : 129 Question Id : 8797531335 Question Type #MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
sfata gerAca dEanst & AT F#41 & S 5 9ed 1's W J8IT @Ry GTAT off Hehdl 67

Options:
1 % =31 to 31

> « =10 to 15
z 8 —63 to 63
4 8 -/ to/

Question Number : 130 Question Id : 8797531336 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Simplified form for the Boolean expression

Y=(A+B)A+B)+(4B)+ A"
Options:
v 4

o w AB

E_WB
g W A+ B



Question Number : 130 Question Id : 8797531336 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
gfeidet S0aTs HT Tlelldhd €T ¢

Y=(A+B)(A+B)+(B)+4 ?
Options:

1. ¢ A

> # AB

3 & B

4 % A+ B

Question Number : 131 Question Id : 8797531337 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If function f(4, B) = ¥ m(0,1,2,3) is implemented using SOP form, the resultant Boolean function would be:
Options:

1 % A-i‘B

> ® A+E
=z B A.B

4 ¢ 1

Question Number : 131 Question Id : 8797531337 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

afg werel f(4,B) =X m(0,1,2,3) vasrdr S FT 39T 4k Fraifead R Sar g, ar TRomer afems b
gI:

Options:

1 % A+B

o A+EB
o W AEB

4 &

Question Number : 132 Question Id ;: 8797531338 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An JK flip flop can be converted to T flip flop by connecting?

Options:

1_$JFIGQ
> % KEGQ
5 o JTOK

4 ® Itﬂé



Question Number : 132 Question Id : 8797531338 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T ik o WellT ol &Fdes Tdieia O & T OeliT # dcol off Oaal 27

Options:
1 B ] to @
2 JtoK

I JtoQ

Question Number : 133 Question 1d : 8797531339 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An SR {flip flop can be converted to JK flip flop by making?

Options:

. ¢ S=]Q R=KQ

you BT B
o W S=_LR=K

Question Number : 133 Question 1d : 8797531339 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U TEAT T TellT F [Fad I 8 F9 T WellT H dcell o1 IFal g7
Options:

. ¢ S=JQ R=KQ

> % =0 R=Q
- % S=LR=K

4% S=JO.R=KQ

Question Number : 134 Question Id : 8797531340 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Johnson counter is also called as
Options:
, = Ring counter

>  Twisted Ring counter

5 w lrigger counter

4 » Leftright counter

Question Number : 134 Question Id : 8797531340 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

ST FI3cT Tl oft &gr FArar 2
Options:
1.$ ﬁ?FQHSEI

E

., o Clares R FBR

T R iaaﬂ ﬂ;SEI
4 % T 3 | EE:E

Question Number : 135 Question Id : 8797531341 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a 4 stage ripple counter. the propagation delay of a flip flop is 50ns. If the pulse width of strobe is 30ns. find the
maximum frequency at which counter works reliably.

Options:
1 % 3MHz

-~ % 4MHz
=z « 4.35MHz
4 % 4.85MHz

Question Number : 135 Question Id : 8797531341 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
U 4 T gl g F13e A, e Ty geiid & oganer 7 fGers 50ns £ Ife e fr gew di=E 30ns g,
ar sifaeas smafca #r e, e Sy BRaT @ &3 & ¢

Options:
1 % 3MHz

> % 4MHz
3 « 4.30MHz
4 % 4.80MHz

Question Number : 136 Question Id : 8797531342 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In 8085 microprocessor, bit register which holds the address of next instruction to be fetched is

Options:
;% 8 bit, accumulator

- 10 bit. Program counter
- % 16 bit. stack pointer

4 % 16 bit. HL pair

Question Number : 136 Question Id : 8797531342 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



8085 AHAETET #,  Tac (foreey St ool S arer 3erel SEer &7 9ar @dr g, cl
Options:

| » 8 faT, wgHEs

5 16 T92, SEmA F5el
. % 16 BT, ¥&F gaw
4 % 16 f&e, wave =T

Question Number : 137 Question Id : 8797531343 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If RST7.5 interrupt is invoked in 8085, it will execute the ISR from address.

Options:
. % 0024H

> % 002CH
- « 003CH
4 % 0000H

Question Number : 137 Question Id : 8797531343 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IfE 8085 F RST7.5 3T 39+ gdT.&, & I Ta ¥ ISR FT fasareT FET
Options:

. % 0024H
. = 002CH
- » 003CH
, = 0000H

Question Number : 138 Question Id: 8797531344 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation: Vertical

Correct : 1 Wrong: 0.25
If chip select logic 1s chosen as A;:A,,A;34,, for a 4K RAM in 8085 for memory
mterfacing. 1ts memory range would be:

Options:
1 + 6000-6FFFH

> % 6000-7FFFH
- % 6000-3FFFH
4 % 5000-6FFFH

Question Number : 138 Question Id : 8797531344 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Ifg, AR Zexhy & AT 8085 7 Us 4K & & U AT 999 GF & A 544434, & & A TAT A0 ¢, ar
SHhT HART F1 "@AT F=47 R

Options:

1 « 6000-6FFFH

- % 6000-7FFFH

= % 6000-3FFFH

4 % 5000-6FFFH

Question Number : 139 Question Id : 8797531345 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Following program is executed in 8085,
LXI H, F378H
LXID. 0A0OBH
DAD

What are the contents of HL pair?

Options:

, % F3H.78H

, % OAH. OBH
. » FDH. 83H
, » F3H. 0BH

Question Number : 139 Question Id : 8797531345 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fieateIf@a q9reme 8085 # Tvuriga forar ST g,
LXI H, F378H
LXI D, OAOBH
DAD

HL St < sidaeq &4r 82

Options:
. % F3H, 78H

, %« OAH, OBH
- « FDH, 83H
, % F3H, OBH

Question Number : 140 Question Id : 8797531346 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A wattmeter reads 25.34W. The absolute error in measurement is —0.11W. What is the true value of power?

Options:
1 ® 2523W



5 o 25.45W
3 % —25.23W
4 % —25.45W

Question Number : 140 Question Id : 8797531346 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
U dreHley 25.34W Tedr &1 AT H fEde A -0.11W g1 e &0 JET Al

Options:
, % 25.23W

5> & 25.45W
5 % —25.23W
4 % —25.45W

Question Number : 141 Question Id : 8797531347 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A current transformer has double turn primary and a 100 turn secondary winding. The secondary draws current of 6A
and magnetising ampere-turns is 60A. What is actual transformation ratio?

Options:
1 % 100.5

> % 101
3 « 5024
4 % 25.12

Question Number : 141 Question Id : 8797531347 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U Taegd crE®FR A 3ae oo WrTAE 3 v 100 oo gfade  asfEa §) gfade 3 6A facga o
fAerdl & 3 grada vefig-ae 60A g1 aredfas TRUAA 3eIrd &1 872

Options:

1 % 100.5

> % 101

z v 00.24

4 % 2512

Question Number : 142 Question Id : 8797531348 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Lissajous pattern on CRO reads y;= 8 units and y» = 10 units. what is the phase difference between two waves?

Options:
; % 36.86°

5 o 53130
5 % 38.65°



4 % 24.15°

Question Number : 142 Question 1d : 8797531348 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

CRO 9% framaia eat y1 = 8 zavgar 3T y2 = 10 SHEAT 9aam &, ar I & &= $f 3767 F47 &7
Options:

; % 36.86°

> « 53.13°

5 % 38.65°

4 % 24.15°

Question Number : 143 Question Id : 8797531349 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The Lissajous pattern is obtained as follows by applying horizontal signal of 2KHz. what is unknown frequency of
vertical signal.

Options:
1 % 400.8Hz

> % 2.5KHz
s « SKHz
4 % 2KHz

Question Number : 143 Question 1d : 8797531349 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ferameite deel 2kHz @& atfcal ®eh @l THE] & YIod AT STel §, Fealel Hehd &l 3731d 3Mdicd 41 87

Options:
1 = 400.8Hz

> % 2.0KHz
2 « OKHz
4 ® 2KHz

Question Number : 144 Question Id : 8797531350 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A meter movement with current sensitivity 100pA and internal resistance 100€2 is required to measure current of 10mA.
What will the shunt resistance be equal to?

Options:



1 % 19
> % 0.98Q
3z % 0.99Q
4 v 10101012

Question Number : 144 Question Id : 8797531350 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

10mA &I Taegd &R & A & o0 facga #dgaefiorar 100pA 3R 3Tai® 9oy 1000 ard T #Hied
aifafater 1 sraegesar gidl g1 e 9ol &1 HerRor fifav)

Options:

1 B 10

% 0.980
% 0.990
4 v 1.0101010

z
e

Question Number : 145 Question Id : 8797531351 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In CRT. the secondary electrons are collected by a conductive coating aquadag which is made up of
Options:
, w» Hydrazine solution

> # Zirconinm solution
-  Graphite solution

4 # Rubber

Question Number : 145 Question Id : 8797531351 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
CRT #, giadas soacls U Halgd Wd Tearsd), AT ¥ 97 g1 &, % 2@ uehd R A g,

Options:

5w Topl=ad faeds

3.V AT e
4 B {ds

Question Number : 146 Question Id : 8797531352 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The vertical gain control of CRO is set at a deflection sensitivity of 5V/em. An unknown sinusoidal is applied to Y-
input. A 20cm long straight line trace is observed, what will the ac voltage be?

Options:

1 ® 17.677V



o> o 3535V
s % 100V
4 % 7071V

Question Number : 146 Question Id ;: 8797531352 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AR T Feare] o =2=0r 5Viem $1 U [GaTTe Hdgeeiierar 9 He & = §1 TE SAEhE Y-Saqe W
o foRam STaT €1 U 20 HAT o Hiedt @ e qddiaid A A §, v dleesl @ 9ar SEme?

Options:
. % 17.677V

> & 35.35V
= = 100V
4 % 7071V

Question Number : 147 Question Id ;: 8797531353 Question Type: MCQ Display Question.Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The purpose of SYNC control in a CRO is to:
Options:
, » Focus the spot on the screen

- « Lock the display of signal

5 » Set the intensity of spot

4 % Adjust the amplitude of display

Question Number : 147 Question Id : 8797531353 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T& CRO #H FHIId WI90T &7 3337 &

Options:

| ®% T 9T THIC FI BEFT FLAT

o  Tehd & BTl & Al HLelm

- % Tic FT dradr dc FLen

4 % [ETCOl & A $ AT T

Question Number : 148 Question Id : 8797531354 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The calibration signal available from CRO is of the form:
Options:

1 # Sinusoidal wave

5 of Square wave



= % Sawtooth wave

4 ® DC signal

Question Number : 148 Question Id : 8797531354 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

CRO ¥ 39dley v Tad 8 TR & 272
Options:

| % SATGSHIT Tl

o w g A

Question Number : 149 Question Id : 8797531355 Question Type: MCQ Display Question.Number« Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The retrace i1s visible on CRO screen. this problem is because of
Options:

, w very high intensity

- w very high frequency is applied

5 % Accelerating voltage is too high

4 « Blanking control is not set properly

Question Number : 149 Question Id ; 8797531355 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
CRO T 9T U IH1@YT EWs ¢ @1 8, 39 WAEIT & FN0T

Options:

a@ﬁm

1.

, % 96a 3T Mgfed @] IR g
< caRd diees Jgd 3ifad gl
4 =olTehdT [@aA0T 3fdd 9 & dT 78l &l

Question Number : 150 Question Id ;: 8797531356 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Why is crystal oscillator in communication circuits and digital clocks generally preferred?

Options:
, w It gives high output voltage.

> % Itrequires very low de supply voltage.



-  The frequency of oscillation remains substantially constant.

4 % It is cheaper.

Question Number : 150 Question Id : 8797531356 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
g8 H1H dit W g9 gfFe 3t BfSca afsal & freed glas & graf@war ¢d & FaifE?

Options:
, % 96 3T9 I3CYC dlees Gl &

o 58 dgd FA I dieest T YT Fr raRThdr gidr g
o GO T G FTH gg d TR el Tl

4 % J€ WEAT R

Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 8797531357 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the least number which when divided by 12, 15 and 24 leaves remainder 5 in each case?

Options:
1 ® 115

> % 120
5 o 125
4 % 130

Question Number : 151 Question Id : 8797531357 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
98 OIET W O TE F4 §, S® 12, 15 9 24 § Ranfee : W s S & 5 o9y a=ar 2

Options:

. % 115
, % 120
3 & 125
4 % 130

Question Number : 152 Question Id : 8797531358 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Ifa:b=4:5and b:c=3: 7. then what is value of a : ¢?

Options:

1 % 4.7
> ®% 7:4
=8 25 12
4 o 12:35

Question Number : 152 Question Id : 8797531358 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

g a: =4 :53T b: c=3:7¢ar a: ¢ AT FT M7
Options:

1&34?

o B 1:4

- % 35: 12

4o 12 : 35

Question Number : 153 Question Id : 8797531359 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A sum of money amounts to ¥ 2200 in 2 vears and ¥ 2300 in 3 years at simple interest. What is the sum of money?

Options:
1 % T1900

> % T1950
s « T2000
4 % T2100

Question Number : 153 Question Id : 8797531359 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation: Vertical

Correct: 1 Wrong: 0.25
TF ST TTUTROT SATST #Y 27 ¥ 2 Fuf F T 2200 g ST & Tur 3 Iuf #F € 2300 g =y #1137 ufer
T 87

Options:

., % T1900
., % T 1950
-« 2000
4 % 2100

Question Number : 154 Question Id : 8797531360 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The selling price of an article is ¥ 3000. If profit is 20% on cost price. what is the cost price of the article?

Options:



;, % T3600
> « T2500
3 % 2400
4 % T2000

Question Number : 154 Question Id : 8797531360 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ue FFG F f3FT AeT T 3000 ¥ AT AN, FT HeT & 20% §, O 3F T F FT HeJ fohdeT 87

Options:

, % T3600
.« T 2500
5 = T 2400
. = 2000

Question Number : 155 Question Id : 8797531361 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Two vessels A and B contain spirit and water in the ratio 2 : 3 and 3.: 4 respectively. Their contents are mixed
in the ratio 3 : 1. What is the ratio of spirit and water in the néw muxture?
Options:
1« 57 :83

Question Number : 155 Question Id : 8797531361 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ar Tl H TTIC UL F AT FA: 2 : 3 qM 3 4 8 A O AT 3 0 1%
3T 7 TRemar sar g1 F% Fsor # Fye gur 96l v seara = geme

Options:
1w BT 83
> % 83 : 57
o251

4 % 25 : 43

Question Number : 156 Question Id ;: 8797531362 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A train 90 m long is moving at a speed of 44 km/h. It crosses a train 120 m long coming from opposite direction along
parallel tracks in 6 seconds. What is the speed of the second train?

Options:



132 kin'h

u

3
> o 82 km/h
80 km/h

56 kanvh

&,

®

=

o

4.

Question Number : 156 Question Id : 8797531362 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T YormEr fAwedr S@s 90 m § 44 km/h Fr T T W g1 TE 120 m FE TH @A
RS S BT e @ wAETeR TeRE § T W@ Y, 6 Whe H IN HIAT g1 SHY I #y
ot fhaer &7

Options:

. % 132 km/h
-« 82 km/h
- = 80 km/h
. % 56 km/h

Question Number : 157 Question Id : 8797531363 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Six men can complete a work in 12 days. 3 days after they started the work. 3 more men joined them. How many days
will they take to finish the remaining work?

Options:
1 ® 3
> #% 4
3¢ 6
4 % 9

Question Number : 157 Question Id : 8797531363 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation.: Vertical

Correct: 1 Wrong: 0.25

6 eHr R FF A 12 RFE #F W X T g1 FY IREH e & 3 7 I 3w 3
e 38 e Ia § O O s e e A # 9@ @ Sem?

Options:

1%-&3
> % 4
z ¢ 6
4 % 9

Question Number : 158 Question Id : 8797531364 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The ratio of 10 term to 7% term of a G.P. is 1 : 8. What is the common ratio of the G.P.?



Options:
1

1« 2

M2
i
I

wa
]
oo m| e

Question Number : 158 Question Id : 8797531364 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frer G.P. (FuieaY 4d1) & g&d FUT Waa 9al T 39 1 : 8 &1 G.P. & H& a7

Options:

B |

1.¢

i a
- #

00 Wl P

b
"

Question Number : 159 Question Id : 8797531365 Question Type: MCQ' Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A spherical balloon of radius 1 m subtends an anglé of 60%at the eye of an observer. If the angle of elevation of its
centre is 45°, what is the height of the centre of the balloon?
Assume that the eye of observer is at level ggound.

Options:
1 % 100 cm

> « 100v2 cm
100
g T

3%

4 % 100v3 em

Question Number : 159 Question Id : 8797531365 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U MR IeRT S B=ar 1 m #, v et T H@r o 60° F FHoT IfET Far 2
ofg Jateh FT AW T TEER F g F 3eaidd HIOT 45° § O AR F Fg Hr 3919 Thaer g2

(AT NTST Je7e T 3@ RIdel HT Tag T )|
Options:
1 # 100 cm

5« 100+2cm




Sﬁ%ﬁm

4 % 100+/3cm

Question Number : 160 Question Id : 8797531366 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What is the quadratic equation whose roots are the squares of roots of the equation x? + 3v2x+ 6 = 0?
Options:

| % ¥2—12x+36=0

5 % Y2 +12x+36=0
s % Y2 +6v+36=0

4 XF—6x+36=0

Question Number : 160 Question Id : 8797531366 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9¢ IfSurd HHIOT FT g TSHe HoT HAEROT
¥ +3vV2x+ 6 =0 & FAT & F9IT & AT §?

Options:

L% X -12x+36=0
% X +12x+36=0
- % X +Bx+36=0
L v X2 -6Bx+36=0

Question Number : 161 Question Id.: 8797531367 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation: Vertical

Correct : 1 Wrong: 0.25
M 15 the brother of I.
L 1s the sister of M.
K is the daughter of J.
N is the brother of K.
How is N related to M?
Options:
1 % Father

> % Uncle
= ® Son

4 « Nephew

Question Number : 161 Question Id : 8797531367 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



M, J & &S gl

L, M &r 5&= g1

K, J &1 51 g1

N, K & &g &

N & M & FT Ja9 272
Options:

| % T

o % =l

5 % &

4 v AT

Question Number : 162 Question Id : 8797531368 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following numbers is related to 498 in the same way as:29 is related to 907

Options:
, % 159

5 o 165
2 % 250
4 % 255

Question Number : 162 Question Id : 8797531368 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

aoi@T Aecdr # ¥ STl §E&ar 498 ¥ 3 38 91 g & 59 91 29 I8 §&ar
90 ¥ mefaa &7

Options:

% 159
- 165
- % 250
. % 255

Question Number : 163 Question Id : 8797531369 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘What is related to *Cordial’ in the same way as ‘Gentle’ is related to ‘Harsh’?
Options:

1 # Kind

> % Timid

3 « Hostile



4 % Polite

Question Number : 163 Question Id : 8797531369 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
519 99X ‘Gentle’, ‘Harsh’ ¥ g0 g, 38T 91, @ a § & &I I 21 ‘Cordial’ ¥ T 872

Options:

1 % Kind
> % Timid
= « Hostile

4 % Polite

Question Number : 164 Question Id : 8797531370 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Five friends are sitting in a circle facing the centre. Chanchal is sitting immediately tohe left of Padma. Manju is sitting
between Deepu and Padma. Who is sitting to the immediate right of Bhavna?

Options:
1 +« Chanchal

- % Padma

- % Manju

4 % Deepn

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 164 Question Id : 8797531370 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9T S Fed H A g G g AN A 88 gU 81 F9e, T & gid 918 AN 48 71 A+
&g 3R v F @i §E g1 HEGE S g a5 HR i ST 27

Options:

| v ST

- % 9HI

3z ® &
4.$€I'=‘_F\

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 165 Question Id : 8797531371 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The average age of 24 students and their teacher is 25 years. If the teacher’s age is excluded, the average reduces by 1.
What is the teacher’s age?

Options:
| % 25 years



5 % 37 years

5 % 42 years

4 49 years

Question Number : 165 Question Id : 8797531371 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

24 Toeanf¥at va 3o e & 3flea Hg 25 a¥ 21 Rete &1 7y #F affie 7 &3 T a1
HH @ ST g1 RverR A g w2

Options:

, % 25 ¥
5 % 37 a9
5 % 42 ¥
4 v 49 T¥

Question Number : 166 Question Id : 8797531372 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If in a certain code SPRING is written as RQQJMH. then how will FLOWER be written in the same code?
Options:

- « EMNXDS
. « GKPVFQ
4 % REWOLF

Question Number : 166 Question Id : 8797531372 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

I T F1F & SPRING #F RQQJMH & &7 & /@ =ar § o, 387 31 & FLOWER =r &% forar
FATTAT?
Options:

. % EKNVDQ
- « EMNXDS
- #= GKPVFQ
. » REWOLF

Question Number : 167 Question Id : 8797531373 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Amit goes 12 metres South. then turns left and walks 15 metres, then turns right and walks 15 metres and he again turns
right and walks 15 metres. Finally. he turns to the right and moves a distance of 5 metres. How far and in which
direction is he from the starting point?

Options:



22 metres North

=
®

22 metres South

4

12 metres East

LoV .
® =

15 metres West

Question Number : 167 Question Id : 8797531373 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

#fAq, gfaror #r 3R 12 #Hex Frar 2, 3 B 915 3K gz 15 HeX Toar g, 39 &g 98 4
3R HgHT 15 X Terar ¢ 3k 37 R af 31X g3 15 HAex 97 81 39 &, 9% g 3R gEe
5 HeT =erar g1 YT T ¥ 3 e gy A fpw fewr & &2

Options:

e 127

Question Number : 168 Question Id : 8797531374 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the missing number from the given alternatives.

4 12 4
6 29
7 38 11
9 75 ?
Options:
1.v 6
> ® 7
- % 8
4 ® 9

Question Number : 168 Question Id : 8797531374 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



#@Wwﬁmﬁﬁﬂwﬁmwml

4 12 4
6 29 7
i 38 11
9 7 ?

Options:

1. ¢ 6

o % 7

z % 8

4 % B

Question Number : 169 Question Id : 8797531375 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the diagram that best represents the relationship among classes given below.
Pet. Animal. Wolf

Options:

OO
O

4

Question Number : 169 Question Id : 8797531375 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



37 B 1 95 F A Al 9 F S FT g9 HWEr 9 § 14T T
qrele], 99, STeAay, AT

Options:

OO

©cC

3 ®

4 o

Question Number : 170 Question Id : 8797531376 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the given statements to be gtueyeven if they are at variance from commonly known facts and decide which of
the given conclusions can definitelynbe drawn from the given statements.
Statements:
1. All trucks are trains.
2. Some trains are scopters.

Conclusions:
I. Some tmcks are scooters.
1I. Some trains are frucks.
Options:

, w Only conclusion I follows.

o « Only conclusion II follows.
% % Both conclusions I and II follow.
4 % Neither conclusion I nor II follows.

Question Number : 170 Question Id : 8797531376 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



TRRT Fua, I GHETaar 99 92307 ¥ @ & af o 3% 98 A= 3k o7 Aoy & & A=
BT 71T Fuar # ¥ 9 ¥ @Sy 309+ 2 2

FA :

. T3l 2 T B B
FO o THed I 2l

[

[

FC T T &9 2
Il. T A g 8d ¢
Options:

e Faer [y | SHET HTHEIT AT g
i Faer [y |l SHFT FFEOT FHAT 2

g | 3R 11 gt $HET HTEOT A &

L AT 7 & Il SHFT HFEIOT FA 2

Display Number Panel: Yes
Group All Questions: No

Question Number : 171 Question Id : 8797531377 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which Article of Indian Constitution guarantees equality of opportunity in matters of public employment?

Options:
1 % Art. 19

> % Art. 14
2 % Art. 21
4 o Art. 16

Question Number : 171 Question Id : 8797531377 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AR @faws & 58 g0 (Article) % T@8d @l @it (public employment) & =& #r
TATAAT Y IMEr & AT 22

Options:

| 4 ¥I0T (Article) 19
, FI=0T (Article) 14

2.



, ¥e0T (Article) 21
HJ=tq (Article) 16

5
4. v

Question Number : 172 Question Id : 8797531378 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which pair of Indian Constitutional Provision and the country that influenced it. is not correctly matched?

Options:
, w Parliamentary System - Britain

-  Fundamental Rights - USSR

- % Concurrent List - Australia

4 » Directive Principles of State Policy - Ireland

Question Number : 172 Question Id : 8797531378 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fr=fafee & v ¢ sy vdufas s ik B g ag8 ssnfam & 2, gafea =& &2
Options:

| % TEIT JUTeT - R
o v HAif 3R - |@fagd |99
- FASST AT (Concurrent List) - HEgroram

L » T=T & Aifg s e - amaets

Question Number : 173 Question Id : 8797531379 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which country won the maximum number of medals in the Rio Olympics. 20167

Options:
1 % China

> % India
= % Russia
4  USA

Question Number : 173 Question 1d : 8797531379 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

a2 & T e, 2016 H 3fO=ad 9= Jar 82
Options:

| w =T

> # AR




=4 ® Q‘T'Fr
q-i-t_j_wﬁ =T AT

4 &

Question Number : 174 Question 1d : 8797531380 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which player has won the maximum number of Grand Slam men's singles tournaments in Tennis?

Options:
1 % John McEnroe

5 % Pete Sampras
5 w Andre Agassi

4  Roger Federer

Question Number : 174 Question Id ;: 8797531380 Question Type: MCQ Display Question Number . Yes Single Line Question
Option : No Option Orientation : Vertical

C‘%ﬁ%ﬁ?ﬁ%ﬁm@rﬁwaﬁﬁmmm dzroim faw (vorer) f@ae g 272
Options:

% ST HFRT

> ® g dFary

N p—

4. TR B

Question Number : 175 Question Id : 8797531381 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where was ASEAN Summniit. 2016 held?

Options:
1 % Jakarta

» % Hangzhou
3 « Vientiane
4 % Singapore

Question Number : 175 Question Id : 8797531381 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A (ASEAN) TfAT 2016 Far g3 um?

Options:

1. ® EEEFIESI'
o % g (Hangzhou)



» At (Vientiane)
IF=Ciiiory

4 B 3

=

Question Number : 176 Question Id : 8797531382 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which state of India has created first island district of India?
Options:

1 % Goa

> # Gujarat

= % Maharashtra

4 + Assam

Question Number : 176 Question Id ;: 8797531382 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
aRE F BT =T F 997 @9 Few (Island District) Tanfaa far 272
Options:

1.%‘3?“31'

o B2

=z ® “E'r' {1 §

Question Number : 177 Question Id : 8797531383 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is GST?
Options:

, « A single indirect tax throughout India

- w A single direct tax throughout India
- % Multiple direct tax regimes throughout India

4 % Multiple indirect tax regimes throughout India

Question Number : 177 Question Id : 8797531383 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
v (GST) Far 272
Options:

| v T SRA # A0 U HATE R

& FI{D‘r SRA H @F] TF Jedsl &

2



. o SR 8T H WF] e ToUeT FI ;AT

, w TR 8R H &) Helsh 39cTET Y cAGEdqT

Question Number : 178 Question 1d : 8797531384 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who would act as the Chairperson of the proposed GST Council?

Options:
, w Union Finance Secretary

=~ % RBI Governor

5 % Union Commerce and Industry Minister

4 « Union Finance Minister

Question Number : 178 Question Id : 8797531384 Question Type: MCQ Display Question Number: Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AfFafaa F @ #i7 S va s (GST) oiiwg & 3emer & §T H F FEm?

Options:

. % Heg fIea wfRE
. x FEAIT AV TS 3T 7

4 S’nﬂ;‘ﬁﬂ 'I-E{fd AT

Question Number : 179 Question Id : 8797531385 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

“Reading the Past, Writing the Future”. was the theme of:
Options:
, w The International Yoga Day. 2016

-~ % International Day of Forests, 2016
- » International Mother Earth Day. 2016

i P International Literacy Day, 2016

Question Number : 179 Question Id : 8797531385 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT 92T R gfasy # @ (“Reading the Past, Writing the future”), famafaf@a & @
T fawgasg (theme) 2?

Options:

| » HAUSET =T REw, 2016



, « HAUET I fe=w, 2016
6 HASET JEEEar feaw, (International Mother Earth Day, 2016)
, » FAUSET wERar =g, 2016

Question Number : 180 Question Id : 8797531386 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the following statements about West Bengal.
1. It has changed its name from West Bengal to Bangla in Bengali.
2. It has changed its name from West Bengal to Bengal in English.
3. Its assembly has rejected the proposal to change the State’s name.
4. It has changed its name. However. consent of the Parliament is necessary to effect the name change.

Which of the above statements is/are FALSE?
Options:
; » Onlyland4

> % Only2and3

5  Only3

4 % Only4

Question Number : 180 Question Id : 8797531386 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ofeTT F9e & I # ReEteiad Fuaaw = fife:
1.30 TsT & H9UAT ATF 9i9aH S9Tal § _&@Tem (Bangla) S9Telr $19T # T foram g
2.0 T=T = 39T 17 I99H S9me ¥ a9 (Bengal) 3= § & o &
3.39 U= Fr Bue @ F /9 UT F1 J1H g¢a & JET & @ &7 2am g
4. 30 T=T & H9IAT ATH _FGo0 ¢ oliched ARG TS 1 TEATT W TET Fa & o0 AT+ gl

IFT FUAT A T FiT AT F494 799 £7

Options:

, % $IT 1 TT 4
5 % hdel 2 TF 3
5« FFT 3
4 % Hhdol 4

Question Number : 181 Question Id : 8797531387 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Muscles are attached to the bones by means of:
Options:

, w ligaments



> « tendons
= # ribs

4 % fibula

Question Number : 181 Question Id : 8797531387 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ArautraT & AreTA ¥ g ¥ 32 @9 &

Options:

| % WMPTHCH (Ligaments)
> of &sie" (Tendons)

« Taferdr (Ribs)
ﬁlﬁfﬂ (Fibula)

B

4 ®

Question Number : 182 Question Id ;: 8797531388 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Without the ‘Greenhouse effect’, the temperature of the carth-would have been:

Options:
1 % 0°C

> % 60°C
2 % —50°C
4 & —18°C

Question Number : 182 Question Id : 8797531388 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A B137 9699 & &, Gt 1 J9A= F:247 g FAAr?

Options:

. = 0 == afcwaw

> % 60 f==ir afcaaw
- % -50 T2=fr afcwaw
4 v -18 e afcwmw

Question Number : 183 Question Id ;: 8797531389 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is “Namami Gange™?
Options:

, w Asocial welfare programme for under-nourished children



-~ % Rehabilitation of persons devastated by floods near the bank of Ganga river

- % Scientific management of “overcrowding™ at the pilgrimage centers around Ganga river

4  AnIntegrated Ganga Conservation Mission

Question Number : 183 Question Id : 8797531389 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Options:

= W;ﬁrwﬁﬁaﬁ#ﬁmmﬂmﬁﬁmm
= I FEr F AT F UH a6 W TGS SN & IAGE F o0 TR cqawr

.« T SET F I F I Tl W sfEeE & IAAe Teeua HT UH caawn
, v UF THIET IR GRET0T e

Question Number : 184 Question Id : 8797531390 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following blood groups of human beingsis called “Universal donor™?

Options:

1 % AB-—
o B B+
3¢ 0
4 ® AT

Question Number : 184 Question Id : 8797531390 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT % fAFT &0 SHa & ¥ Fi9 9 &9 GHE “gf@a8 aar (Universal Donor) T ST 872
Options:

1 % AB‘_

2_%38"‘

3¢ 0 -

4% A+

Question Number : 185 Question Id : 8797531391 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where is National Gallery of Modern Axt situated?

Options:
1 # Ahmedabad



- % Kolkata
= # Port Blair
4« New Delhi

Question Number : 185 Question Id : 8797531391 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T HYfAe For WA (National Gallery of Modern Art) feafaf@a & & e o & g 22
Options:

1w SgHCIES
glwm

.« T @R
4 v T e

Question Number : 186 Question Id : 8797531392 Question Type: MCQ Display Question-Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following states of India is associated with “Mohintyattam™ dance form?

Options:
1 ® Odisha

~ # West Bengal
= % Assam
4 « Kerala

Question Number : 186 Question Id : 8797531392 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

foefaf@a & & aRa .l TF Afgesgd (Mohiniyattam) Fear e & =T g3 872
Options:
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Question Number : 187 Question 1d : 8797531393 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
“Servants of India Society” was founded by:

Options:
1 # Mahatma Gandhi

- » Bal Gangadhar Tilak



= « G.K. Gokhale

4 # Annie Besant

Question Number : 187 Question Id : 8797531393 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tdeeg ATF SfZar graEdr (“Servants of India Society”) s ZarT T & 1T o2
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Question Number : 188 Question Id : 8797531394 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Cabinet Mission Plan to make India a loose. three-tier confederation. as.a pessible alternative to partition. failed
because:

Options:
, w The Congress did not accept it initially.

> % The Muslim League did not accept it initially.
- % [Ihe British government opposed it.

4  The Congress and Muslim League interpreted the plan in a mutually opposed way.

Question Number : 188 Question Id : 8797531394 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 189 Question Id : 8797531395 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Indus river originates near:

Options:



1 « Mansarovar

> » Gangotri

= % North Kashmir
4 # Siachen Glacier

Question Number : 189 Question Id : 8797531395 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fwey 7 & seufea (Origin) Far g 872

Options:
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Question Number : 190 Question Id : 8797531396 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following major rivers of Deccan region 1 NOT east flowing river?

Options:
1 « Narmada

> % Godavari
z % Krishna
4 % Cauvery

Question Number : 190 Question Id : 8797531396 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Id : 8797531397 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (191 to 195)
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Question Number : 191 Question Id : 8797531398 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 192 Question Id : 8797531399 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
9H7-FaE #1 9N IF 2T & —
Options
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Question Number : 193 Question Id : 8797531400 Question Type: MCQ Display Question'Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ggs T9¥ §HEST 9 ST § 59 —
Options:
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Question Number : 194 Question Id : 8797531401 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 195 Question Id : 8797531402 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Id : 8797531397 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
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Question Number : 191 Question Id : 8797531398 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 192 Question Id : 8797531399 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 193 Question 1d : 8797531400 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 194 Question Id : 8797531401 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 195 Question 1d : 8797531402 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 196 Question Id : 8797531403 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 196 Question Id : 8797531403 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation: Vertical

Correct: 1 Wrong: 0.25
f=fafea 7 o #iF ¥ e fr 39 T@er 22

Options:

Question Number : 197 Question Id : 8797531404 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 197 Question Id : 8797531404 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 198 Question Id : 8797531405 Question Type: MCQ ‘Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

Question Number : 198 Question Id : 8797531405 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 199 Question Id : 8797531406 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 199 Question Id : 8797531406 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 200 Question Id : 8797531407 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 200 Question Id : 8797531407 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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